NYU-SH Honors Linear Algebra II — Lectures Summary — Leonardo T. Rolla

Part I: Inner product spaces

1 Inner products

Main reference: Axler §1.B

e The field F is either R or C. Elements of F are called numbers or scalars. A
complex number z € C is a number of the form z = x + iy where x,y € R. In C we
have usual algebraic properties of multiplication and addition, plus the property
that 2 = —1, so (1 4 2)(3 + 4i) = 3 + 4i + 6i + 82 = —5 + 10i.

e Why C? Cutting a long story short... Want to count: N. Want to subtract:
N ~ Z. Want to divide: Z ~~» Q. Want intermediate value theorem: Q ~» R.
Want polynomials to have roots: R ~» C.

e A wvector space over the field F is a set V together with the operations of addition
and scalar multiplication satisfying certain properties.

Main reference: Axler §6.A

e The dot product can be seen as a generalization of multiplication on R. The inner
product can be seen as a generalization of the usual dot product on R™.

e An inner product on a vector space V' is a function (-,-) : V' x V — F satisfying:

1. For every v € V, (v,v) >0 (in particular (v,v) € R);

2. (v,v) =0 if and only if v = 0;

3. For every u,v,w € V and a € F, (u + av,w) = (u,w) + a(v, w);
4. For every u,v € V, (v,u) = (u,v).

Examples:
— The dot product (z,y) = z -y on R" is the simplest case.

— For positive real numbers ci, ..., ¢,, we can define (z,y) = >, ¢jz;y;.

— On C", we can define (2, w) = 3, 2W; or (z,w) = 3, ¢;2;W;.

— On P(C), we can define (p,q) = [5~ e 'p(t)q(t) dt.

e An inner product space is a vector space endowed with an inner product.

(u,v + aw) = (u,v) + a(u,w), for every u,v,w € V and for every « € F.

Two vectors u,v € V are orthogonal if (u,v) = 0. We denote it u L v.

e 0 is the only vector orthogonal to itself.
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2 Inner products and norms

Main reference: Axler §6.A

Terminology. In these lecture notes, “proof” means just the main idea of the proof.
The complete proof is the one written on the whiteboard or in the textbook.

e On an inner product space V, the norm of v € V is defined by ||v|| = /{v,v).
e Properties of a norm:
1. For every v € V, ||v|| > 0
2. ||lv|| =0 if and only if v =10
3. For every u,v € V, |lu+v|| < ||ul| + ||v]]
4. For every v € V and every a € F, ||aw| = |a| - ||v]|
Proof. Triangle inequality is postponed. The other three immediate from (-, -).
e Pythagorean Theorem : If u L v, then |lu + v||? = |Ju? + ||v]|*.
Proof. Just expand (u + v,u + v) and group the cross term.
Counter-example: u = (1,1 +14),v = (2 —i,—1 — i) € C2. By carefully examining
the proof, we can see why the inner product is in ¢ R for such examples.
e Orthogonal decomposition: For u,v € V, v # 0, we have
u=+w, with (w,v) =0,

where the scalar A\ and vector w are given by A = EZ;’; and w = u — Av.

Proof. Assume there is such a decomposition and compute (u, v).

e Cauchy-Schwarz Inequality. For every u,v € V, [(u,v)| < |Ju| - ||v]|-
Equality holds if and only if v = 0 or if u = Av for some \ € F.
Proof. Apply Pythagorean Theorem to the orthogonal decomposition of u onto v.

Example: for continuous functions f, ¢ : [0,1] — R,

[ sty < \/ ([ swra)( [ o2 a).

o Triangle Inequality. For every u,v € V, |[u+ v| < |Jul| + ||v].
Equality holds if and only if v = 0 or u = Av for some A > 0.

Proof. Expand ||u + v||? and use Cauchy-Schwarz Inequality.

Example: for continuous functions f, ¢ : [0,1] — C,

J[ 156 s@ra< [swra | [ oea




3 Orthonormal bases
Main reference: Axler §6.B

o A family of vectors eq, ..., e, € V is orthonormal if, for every 1 < j, k < m,
[ 1=k,
{ejren) = { 0 if j # k.
Examples: {(cos#,sinf),(—sinf,cos@)}, {(0, —?, g), (0, @, ?), (1,0,0)}.

o Parseval’s Identity. Let eq,..., e, € V be an orthonormal family of vectors.
For every aq,...,an € F, we have

|larer +---+ amem||2 = ]a1|2 +oe ‘am|2'

Proof. Pythagorean Theorem.

e Ifey,...,en €V are orthonormal then they are linearly independent.

Proof. Use previous identity.

e An orthonormal basis is a basis consisting of orthonormal vectors.
Every orthonormal family containing dim V' vectors is an orthonormal basis.

e Decomposition. Let eq, ..., ey be an orthonormal basis for V. For every v € V|
v = (v, €1>61 + -+ (v, €n>€m

and [[o[* = [(v, e1)|* + -+ + [{v, en) .

Proof. Direct computation and Parseval’s identity.

o The Gram-Schmidt procedure: Let vy,...,v, € V be linearly independent. Define

1 .
€1 = [t and, for j =2,...,m,
~ 1 =~
& =vj —(vj,er)er — (vj,e2)er — -+ — (v €j1)ej1 €5 = 7 &
Then ey, ... €, is orthonormal and span(v1,...,v;) = span(ey,...,e;) for every j.

Example: On Py(R) with (p,q) = filp(t)q(t) dt, apply G-S to t2,1,¢.

o Let eq,...,e, denote the orthonormal family obtained by applying Gram-

Schmidt to v1,...,vn, and let €),... e, €, | denote the family obtained from
VlyeneyUmyUmt1. Theneg =€, ... ep =e€l,.
An analogous property would not hold for v,,11,v1, ..., Upn.

That is, Gram-Schmidt procedure gives a consistent output if we add more vectors
at the end of the list, but not at the beginning.



4 Schur’s Theorem and Riesz Representation Theorem

Main reference: Axler §6.B  (Uses results from Axler §5.B)

Notation. A “ o ” indicates a point that it is not quite following the textbook.

e Every finite-dimensional inner product space has an orthonormal basis.

Proof. Apply Gram-Schmidt to an arbitrary basis.

e For finite-dimensional inner product spaces, every orthonormal family can be

extended to an orthonormal basis.

Proof. Extend to an arbitrary basis (add at the end) and apply Gram-Schmidt.

e [fan operator T on a finite-dimensional inner product space has upper-triangular
matrix with respect to some basis, then it has an upper-triangular matrix with

respect to some orthonormal basis.

Proof. Recall that [Ty, . v,
invariant under T for every j = 1,...,m. Apply Gram-Schmidt and conclude.

is upper-triangular if and only if span(vy,...,v;) is

e Schur’s Theorem: Every operator on a finite-dimensional and complex inner
product space has upper-triangular matrix with respect to some orthonormal basis.

Proof. Recall that every operator on a finite-dimensional complex vector space is

upper-triangular with respect to some basis. Apply previous result.

Example: compare T(x,y) = (—y,z) on R? and C2.

o A linear functional ¢ on V is a linear map from V to F, i.e. ¢ € L(V,F).
Example: ¢(z) = 221 — iz3 + 323 + 5iz; on C3.
Remark. The above example can be written as ¢(z) = (z, (2 — 5¢,0,3 +1)).
Example: ¢(p) = fol p(t) cosmt dt on P(C).

o Riesz Representation Theorem. Let V be a finite-dimensional inner product

space and ¢ € L(V,F). There is a unique u € V' such that ¢(v) = (v,u) Yv.

Proof. Take an orthonormal basis, write u = }_; aje;, and expand (ej,u). Show

that this u has the desired property. For uniqueness, compute ¢(u — u').

Remark. So we compute u, and the result does not depend on the choice of basis.

o As a remark, for ¢(p) = [3 p(t) cosmtdt on P(C), there is no ¢ € P(C) with this
property. The proof is analytic, requiring Stone-Weierstrass Theorem, etc. This is

Functional Analysis, which combines Linear Algebra, Analysis and Topology.

However, if we restrict this functional ¢ to P2(C), then we can find ¢ € P2(C) such

that o(p) = (p, q) for every p € Py(C).



5 Orthogonal complement

Main reference: Axler §6.C
Notation. Crla,b] = {f : [a,b] — R continuous}, Ccla,b] = {f +ig: f,g € Cr[a,b]}.

e If U is a subset of V, then the orthogonal complement of U, denoted U™, is the
set of vectors in V' that are orthogonal to every vector in U, that is

Ut ={veV: (vu)=0, VuecU}.

e Let V be an inner product space. Then

1. For every subset U of V, U™ is a subspace;
2. {0}+ =V and V*+ = {0};

3. For every subset U C V, U+ NU c {0};

4. For every subsets U c W Cc V, Wt c U+,

Proof. Proof. In each case, check the definitions.

e If V is a inner product space and U C V is a finite-dimensional subspace then

V=UqU-" .

Proof. For V.= U + U™, take an orthonormal basis e1, ..., e, of U, write v as a
sum of its components (v, e;)e; in U plus the remainder w in U+t.
Finally, @ follows from U N U+ = {0}.

o What can go wrong?
Let V = Ca[~1,1] with (f,g) = ', f(t)g(t) dt.
ForU={feV:f(0)=0},Ut={0}and U+ U+ #V.

e If U is a finite-dimensional subspace, then U = (U+)*.

Proof. To show that U C (UL)* check the definition. For U D (U+)%, let v €
(U+)+, and write v = u+w. Since U C (U+)*, u € (U+)*, hence (v—u) € (U*)*,
On the other hand, (v —u) = w € U+, thus v — u = 0, hence v € U.

o With the previous counter-example, (U+)* is bigger than U.

e If V is finite-dimensional and U is a subspace, then dim U+ =dimV —dimU.

Proof. Just recall that a sum is a direct sum if and only if dimensions add up.



6 Orthogonal projection and best approximation

Main reference: Axler §6.C

In this lecture, we assume that U is a finite-dimensional subspace of V.

e The orthogonal projection of V onto U is the map F, : V' — U defined as follows.
For every v € V, write v as

v=u+w WithuEU&HdU)EUJ',

and take F,v = u. This is well-defined because V =U @ U+,

e Properties of the projection operator.

| B v| < |lv|| and equality holds if and only if v € U.

1. P e L(V);

2. Ru=u, YVu e U and Bw =0, Yw e U,
3. range 2. = U and ker B, = U+

4. (v—PRv) e Ut;

5. (R) =R

6.

7.

Given an orthonormal basis ey, ...,e, of U, we have, for every v € V,
m
Pv= Z(v, €i)€i.
i=1

Proof. Check the definition of linear. Use the definition of F,. Use previous
property and V = U @ U+. Use the definition of E.. Use the second property.
Pythagorean Theorem to v = Bv + (v — P,v). Done in the proof of V = U @ U*.

e Best approzimation. For every v € V and every u € U, we have that
o= Bl < v —ul,
and equality holds if and only if u = Fv.
Proof. Apply Pythagorean Theorem to v —u = (v — B v) + (Bv — u).

e The assumption that U is finite-dimensional is of course very restrictive. But the
theory is still very powerful under this assumption, see Example 6.58.

o Example: Find the affine function that best approximates g(t) = v/t in terms of
mean squared difference on [0, 1].



Part II: Operators on inner product spaces

We assume that all spaces are finite-dimensional.

7 The adjoint operator

Main reference: Axler §7.A

e Let V and W be two inner product spaces. The adjoint of a linear map T €
L(V,W) is the map T* defined by w +— T*w where T*w is the unique vector in V
such tat

(Tv,wy,, = (v, T*w),
for every v € V. The operator T™ is well-defined by Riesz Representation Theorem.

o Examples:
T(x1,xe,23) = (—2x9,bxs — 321)
Tv = (v,u), z for fixed u € V and x € W

0123]
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e Properties. On the appropriate spaces,

1. T* e L(W,V)

2. (S+T) =8*4+T*
3. (\T)* = \T*

4. (T*)* =T

5. (ST)* = T*S*

6. I* =1

Proof. Check the definitions.
e For every T, ker T* = (rangeT)".
Proof. Use V+ = {0} and the definitions of ker, adjoint, | and range.
e Corollaries: rangeT = (ker T*)*, range T* = (ker T)*, ker T' = (range T*)*.
Proof. Take L. Replace T by T*. Take L.
e For T € L(V,W) and orthonormal bases A of V and B of W, we have
[T*]as = ([T]5,4)",
where A* denotes the conjugate transpose of a matrix A.

Proof. Let C' = [T|g4 and D = [T*]45. Then ¢ = --- = (Tey, g;). Likewise,
d;r = (T gk, ej). On the other hand, (T gy, e;) = (g, Te;) = (T'ej, gi) = Tk ;-



8 Self-adjoint and normal operators
Main reference: Axler §7.A

e An operator T € L(V) is self-adjoint if T* =T

e In some sense, taking the adjoint of a linear operator is the analogous of taking
the complex conjugate of a number. In the same spirit, since a number being real
is equivalent to being equal to its conjugate, the property of an operator being
self-adjoint has many similarities with the property of a number being real.

o If '€ L(V) is self-adjoint, then all its eigenvalues are real.
Proof. Show that A||v||? = A|jv|%.

e Let V be a complex inner product space and let ' € £(V') be an operator. T is
self-adjoint if and only if (T'v,v) € R for every v € V.

Proof. Check that (T'v,v) — (Tv,v) = ((T'— T™*)v,v) and use following fact.
*1If (Sv,v) =0 for every v € V, then S = 0.
Proof. For u,w € V, expanding 0 = 3, i*(S(u + i*w), u + i*w) = 4(Su,w) gives
Su € V1 = {0}. Example: Compare S(x,y) = (—y,x) on R? and C2.
e Let V be an inner product space (real or complex) and let T' € L(V') be a self-
adjoint operator. If (T'v,v) = 0 for every v € V, then T' = 0.
Proof. For F = C it is the previous theorem, so we can assume F = R. Expanding
0 = (T(utw),u+w) —(T(u—w), u—w) gives 4(Tu, w) = 0, hence Tu € V*+ = {0}.
e An operator T' € L(V) is normal if TT* = T*T.

Examples:
T(x,y) = (—2y,2x) on F2. Check that T* = (2y, —2x), TT* = T*T = (4x, 4y).
T(z,y) = (y,y). Check that T* = (0, + y), TT* = (x + y,x + y), T*T = (0, 2y).

e An operator T' € L(V) is normal if and only if ||Tv|| = ||T*v|| for every v € V.
Proof. Write S = T*T —TT*. We have S = S*, want to show that S = 0. Show

that (Sv,v) = | T*v||?> — ||Tv||? and use previous theorem.

o If T € L(V) is a normal operator with eigenvector v € V associated to some
eigenvalue A € F, then v is also an eigenvector of T associated to the eigenvalue
A

Proof. Show that T — A is also normal, whence ||Tv — Mv|| = [|T*v — v]|.
o If T € L(V) is a normal operator then eigenvectors associated to distinct
eigenvalues are orthogonal.

Proof. By previous theorem, Tu = au and T*v = Bv. Show that (o — ) (u,v) = 0.



9 Spectral Theorem

Main reference: Axler §7.B

Spectral Theorems. Why do we care? Diagonal operators? Orthogonal bases?
Can you diagonalize T'(z,y) = (—2y,2z) on C?? What about R??
Can you diagonalize T'(z,y) = (2z + y,z + 2y) on C2? What about R??

Complex Spectral Theorem: Let V be a complex inner product space and T €
L(V) be an operator. T is normal if and only if it is orthonormal diagonalizable.
Proof. (<) We know that [T™] = [T, so [T™] is also diagonal with respect to the
same orthonormal basis, thus [T]* and [T] commute, hence T* and T' commute.

(=) By Schur’s Theorem, there is orthonormal basis A = {ey,...,e,} such that
[T)4 is upper-triangular. Using [T7] = [T]*, ||Te;|| = ||T"e;|| and Pythagorean
Theorem, show recursively that off-diagonal entires of each row of [T] are zero.

Real Spectral Theorem. Let V' be a real inner product space and let 7' € L(V') be
an operator. Then T is self-adjoint if and only if it is orthonormal diagonalizable.

We prove the Real Spectral Theorem with three lemmas.

An irreducible quadratic factor is a polynomial of the form q(t) = t? + 2bt + ¢ for
real numbers ¢ > b?. Note that g(t) > 0 for every ¢ € R.

*IfT* =T and ¢ > b? > 0, then S = T2 + 2bT + ¢l is invertible.
Proof. For |[v|| = 1, expand using (T + bI)* =T + bl to show (Sv,v) > 0.
*IfV #{0} and T* =T, then T has at least one eigenvalue.

Proof. Assume F = R. Fix v # 0. Writing n = dimV, the family
v, Tv, T?v, ..., T™ must be linearly dependent, whence > ajij = 0. Consider
the non-zero polynomial p(x) = ag + a1z + asx® + -+ + a,z™, and recall that
every polynomial over R can be factorized as a constant times several irreducible
quadratic factors times several factors of the form x — A; for Ay € R. Since
p(T)v = 0, at least one of the linear factors 7' — A\ is not injective, and therefore
Ak is an eigenvalue. The case F = C is similar but simpler, since polynomials over
C factorize completely.

*If T* = T and U C V is an invariant subspace under T, then U~ is invariant
under T', T}, € L(U) is self-adjoint and T} | € L(U%) is self-adjoint.

Proof. For T(U+) C U+, check the definition using 7* = T. For T, self-adjoint,
check the definition. For T,  self-adjoint, switch U and U-~.

vl
Proof of Real Spectral Theorem: (<) Since [T] is diagonal with respect to an
orthonormal basis, we have that [T*] = [T]* = [T]' = [T], hence T* =T.
(=) Use the two lemmas above and induction on the dimension.



10 Positive operators and isometries

Main reference: Axler §7.C

e The idea is that every linear map can be “diagonalized” by two orthonormal bases.
Whereas a diagonal operator only does some “stretching,” having different bases
reflects some “rotation” done on the top of that. By flipping elements of the second
base, we can even restrict the stretching to positive real scalars. As we will see
later, stretching is represented by a positive operator, and rotation by an isometry.

e An operator T' € L(V) is positive if T* =T and if (T'v,v) > 0 for every v € V.

Examples: The identity operator is positive. An orthogonal projection F, is
positive. If T* = T and ¢ > b? are real, then T? + 2bT + cI is positive. (7.32)

Remark: By the Spectral Theorem, a self-adjoint operator is positive if and only
if all eigenvalues are non-negative.

e Let T € L(V) be an operator. An operator R € L(V) is a square root of T if
T =R2. (7.33)
Example: T(x,y,2) = (2,0,0) and R(z,y,z) = (y, z,0) on C3.

e If T is a positive operator, then T has a unique positive square root, denoted /T

Proof. Use the Spectral Theorem. For existence, take R having eigenvalues v/Ax
with same orthonormal eigenvectors as 1. For uniqueness, let v be an eigenvector
of T, so Tv = \v. Let v/, denote the eigenvalues of R for an orthonormal basis
(e1,...,€en), show that > . agAger = Y axAex. Conclude that aj with different

eigenvalues are zero, hence Rv = v/ Av. Since eigenvectors form a basis, this
determines R. (7.36)
e An operator S € L(V) is an isometry if || Sv| = ||v|| for every v € V.

o Let S € L(V). The following are equivalent:

S is an isometry;

(Su, Sv) = (u,v) for every u,v € V;

Sei,...,Se,, is orthonormal for every orthonormal family eq,...,en.;
Sei,...,Se, is orthonormal for some orthonormal basis eq, ..., ey;

S is invertible and S~! = S*;

S* is an isometry.

SR Al o

Proof. First 1 = 2 = 3 = 4 = 5 = 6. Use that 4(u,v) = >, i*||u + i*v|2.
Orthonormality is preserved once inner product is preserved. Existence follows
from Gram-Schmidt. Mapping a basis to a basis, S is invertible and, by linear

combinations on a basis it preserves inner product, so (u, S~'v) = (Su, SS~1v) for
all u,v. (S*v,S*v) = (SS*v,v) = ||v||?. For 6 = 1, use 1 = 6 and T** = T. (7.42)



11 Polar Decomposition & Singular Value Decomposition

Main reference: Axler §7.D

Numbers refer to page or otherwise equation/theorem numbering in Axler.

e Polar Decomposition. Let T be an operator on V. There exist an isometry S and
a positive operator P such that T'= SP. This P can be given by P = vT*T.

Proof. Use T*T = P*P to show || Pv|| = || Tv||. Let U = range P and W = rangeT.
Define S7 € L(U, W) by S;Pv = Tw. Since S; preserves norm, it is injective. It
follows from the definition that it is also surjective, so dim W = dim U. Define S, €
LU+, W) by Te;j = g; for some orthonormal bases. Define S = 51, + SoP | .
Since S; and Sy preserve norm, by orthogonality so does S. (7.45)

e Let T'e€ L(V). The singular values of T is the list consisting of the eigenvalues of
VT*T, where an eigenvalue A is counted dim ker(v/T*T — A\I) times.

Remark: Singular values are nonnegative. By the Spectral Theorem there are
always dim V' of them. (236)

Example: With computations we check that T'(x,y, z,w) = (0, 3z, 2y, —3w) has
singular values (0,2, 3,3) but only 0 and —3 are eigenvalues. (7.49)

o Singular Value Decomposition. Let T' € L(V'). There exist orthonormal bases A
and B such that [T 4 has the singular values on the diagonal and zero elsewhere.

Proof. Express P = v/T*T in terms an orthonormal eigenbasis. Using Polar
Decomposition, apply S to this expression, getting Tv = s1(v,e1)Se; + --- +
sn (v, €n) Sen,. (7.51)
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Part III: Operators on complex vector spaces

We assume that F =R or C and dimV =n > 1.

Generalized eigenvectors

Main reference: Axler §8.A

Let T € L(V). We have {0} = ker T® C kerT' C kerT? C kerT3 C - --
Proof. Just check the definition.

If ker T™ = ker Tt then ker T = ker T 1! = ker T™12 = ker 713 = ...
Proof. Show that v € ker T +F+1 is also in ker T +* using T"v € ker T™*1. (8.3)

We have ker T% = ker T™ for every k > n.

Proof. Each time there is strict inclusion, the dimension increases by at least one.

We have V = ker T @ rangeT™.

Proof. To show ker Nrange = {0}, write v = T™u, and show u € ker T?" = ker T™.
Finally, dimensions add up by Rank-Nullity Theorem.

After-class exercise: Let T'(z1, 22, 23) = (422,0,523). Check that kerT'NrangeT #
{0} and C3 # kerT + rangeT but C* = kerT® @ range T by finding describing
these subspaces explicitly. (8.5)

A vector v € V is a generalized eigenvector associated to A if v # 0 and if there
exist a nonnegative integer j such that (T — A\ )/v = 0.

Remark: In this case A must be an eigenvalue, because otherwise (T' — AI) being
injective would imply that (T'— AI)7 is injective.

Ideally, one should be able to decompose V' as a direct sum of invariant subspaces
where T" behaves nicely. We would like to have V = E(\,T) & --- & E(A\y,T') but
that is not always possible. Introducing generalized eigenvectors is an attempt to
give a good description of linear operators, as simple and complete as possible.

The subspace G(\,T) = ker(T" — AI)" is called the generalized eigenspace of T
associated to the eigenvalue A.

Exercise: Let T'(z1,29,23) = (422,0,5z3). Find the eigenvalues of 7" and the
generalized eigenspaces. Check that C? is a direct sum of generalized eigenspaces.

Let v1,...,v, be generalized eigenvectors corresponding to distinct eigenvalues
Ay ..oy A of T € L(V). Then the vectors v; ..., v, are linearly independent.

Proof. Take w = (T — M\ I)*v; as a A\j-eigenvector. So (T — AI)"w = (A1 — \)"w.
Apply (T — M I)* [[j51 (T — A;I)™ to both sides of -, ajv; = 0 and conclude that
a1 = 0. To get a; = 0 we repeat the same argument. (8.13)



13 Generalized eigenvectors and nilpotent operators
Main reference: Axler §8.A & §8.B

e An operator N € L(V) is nilpotent if N" = 0.

Examples: The derivative on P7(R), or N (21, 22, 23, 24) = (22 + 23, 23, 24,0) on C*.

e Let N € L(V) be a nilpotent operator. There exists a basis B such that [N]g is
upper-triangular with only 0’s on the diagonal.

Proof. Choose basis for ker N, extend it to a basis of ker N2, and so on. (8.19)

e Let T € L(V) be an operator and let A be an eigenvalue of 7. The algebraic
multiplicity of X is defined as dimker(T' — AI)". The geometric multiplicity of X is
defined as dimker(7"— AI) and can be smaller than the algebraic multiplicity.

Exercise: For T'(z1, 22, 23) = (621 + 322 + 423,622 + 223, 72z3), find the eigenvalues,
generalized eigenspaces, and a basis of C? made of generalized eigenvectors.

Below we assume that F = C.

o Let A, ..., Ay, denote the distinct eigenvalues of T € L£(V'). Then
V=G\,T)® - &G\, T).

In particular, there is a basis of generalized eigenvectors, and the sum of algebraic
multiplicities of A1,..., Ay, equals n. Moreover, for all j, the subspace G(\;,T) is
invariant under 7" and the restriction of T — ;I to G(\;,T) is nilpotent.

Proof. We use the observation that ker p(T") and range p(T') are invariant under T
for any complex polynomial p(z), in particular for p(z) = (z — A;)". Invariance of
G(A;,T) under T follow from this, nilpotence follows from definition of G(X,T).
For the direct sum, recall that operators on complex spaces have at least one Aq,
write V = G(A1, T)®U with U = range(T—A\11)" invariant under 7. Let S =T}, €
L(U). The A\i-eigenvectors are in G(A\1,T"), hence not in U. By induction on n, U =
G(A2,S)@- - ®G (A, S). Since G(A,S) C G\ T), G\, T)+---+G(Ap, T) = V.
Direct sum follows from linear independence of generalized eigenvectors.  (8.21)

e Let A\y,..., )\, denote the distinct eigenvalues of T' € L(V) and d,...,d,, their
algebraic multiplicities. There exists a basis B of V such that [T is block diagonal
with blocks Ay, ..., Ay, such that A;, j € {1,...,m}, is a d; x dj upper-triangular
matrix with A; on the diagonal.

Proof. Defining N; € L(G(\;,T)) by Njv = (T — A\;I)v, we have N; nilpotent, so
there is a basis B; of G(\;,T) such that [Nj]s, is upper-triangular with zeros on

the diagonal, adding back ;I gives the upper-triangular matrix with \; on the
diagonal. (8.29)



14 Characteristic and minimal polynomials

Main reference: Axler §8.C

e A monic polynomial is a polynomial whose leading coefficient is 1.
e There exists a unique monic polynomial p € P(F) of smallest degree such that
p(T) = 0. The polynomial p is called the minimal polynomial of T

Proof. Consider the largest m such that I,T,T?,...,T™ is linearly independent
(such m exists since £(V) is finite-dimensional). Then I,T,T?,...,T™ is a basis
for its span, which in turn contains 7! by definition of m. Therefore, there is
a unique monic polynomial p(z) = 2™ + @, 2™ + -+ + a1z + ag of degree m + 1
such that p(T') = 0. Moreover, if ¢ is a polynomial of smaller degree such that
q(T) = 0, by linear independence of I,T,T?, ..., T™ we have ¢ = 0, so ¢ cannot
be monic. (8.40)

e Let p be the minimal polynomial of 7" and let ¢ € P(F) be a polynomial. We have
that ¢(T') = 0 if and only if p divides ¢, i.e. ¢ = p X s for some polynomial s.
Proof. The more difficult direction uses polynomial division. (8.46)

e Let V be a finite-dimensional vector space and let T € £(V). The zeros of the
minimal polynomial of T" are exactly the eigenvalues of T

Proof. If p(A) = 0, we have (T'— A )q(T)v = 0 for every v, and since ¢(T') # 0, A
is an eigenvalue. Conversely, if )\ is an eigenvalue then for an eigenvector we get
0 = p(T)v = p(A)v, hence p(\) = 0. (8.49)

Below we assume that F = C.

e Let A\j,..., )\, denote the distinct eigenvalues of T € L(V) and d,...,d,, their
algebraic multiplicities. The characteristic polynomial of T is defined by

9(2) = (2= A)M - (2 = A) ™™
Remark: g(z) has degree n and its zeros are the eigenvalues.

o Cayley-Hamilton Theorem: g(T') = 0.
Proof. Every v is a combination of vectors v; € ker(T' — \;I)%, and since the
operators (T — \;I)% commute, g(T)v; = 0. (8.37)
e The characteristic polynomial is a multiple of the minimal polynomial.

Proof. Combine Cayley-Hamilton and the property above. (8.48)



15 Jordan form
Main reference: Axler §8.D For this lecture, F = C

e Suppose N is nilpotent. Then V has a basis which is of the form
2 d1 do 2 dm
v, Nvi, N“vi, ..., N vy, v9, Nva, ..., Nvo, ..., Um, NUpm, N“Up, ..., N0,

and is such that N%+ly; =0 for j =1,...,m.

Remark: The only eigenvalue of NV is 0, and m is just enumerating different families.
Each family j starts with some vector v; and ends when NNN --- NNv; = 0.

Proof. We will show how to find such a basis. Let U, = range N¥. A basis of a
subspace U C V with the above properties will be called a good basis for U.

First, U, = {0} and the empty set is a good basis for U,,.

Let By = (vi,Nv’l,...,Ndllv’l,...,v;n,,NU;l,,...,Ndinv;l,) be a good basis for
Ukr1- We will construct a good basis for Uy. Since U1 = range(N|Uk ), we can find
a solution vg to Nv = vy, fork =1,...,m". Let d; = d;+1for j =1,...,m'. Take
the collection By = (v1, Nvi,...,N%vy, ..., 0, Ny, ..., N%mv,.)) obtained by
inserting vy, ..., v, before each subfamily of By 1.

To show that By, is linearly independent, we consider a null linear combination,
apply N and use linear independence of By11 to show that the all the coefficients
except the last one of each family are zero. For the last coefficients of each family,
use again linear independence of Byyi. Complete By, to a basis of Ui, by adding
Wm/ 415+ -+ Wm-

Since Nwp,r4; € U1, it is a linear combination of By, which means a linear
combination of NBj, which means Nz; for some x € span Bj.. Take Umiyj =
W' +5—2; 50 Nvp4j = 0. Take the collection By, obtained by adding vy, 41, ..., vm
to By. Then By, spans Uy, so it is a basis, and moreover it is a good basis. (8.55)

e A basis B is a Jordan basis for T if [T|g is block diagonal with each block A; such
that its diagonal consists entirely of A;’s, where \; is an eigenvalue of T', and the
line above the diagonal consists entirely of 1’s.

Remark: If N is nilpotent, then a good basis as in the previous proof, written
backwards, is a Jordan basis for N.

e Let V be a complex finite-dimensional vector space. For any operator T' € L(V),
there exists a Jordan basis for 7'
Proof. Recall that V. = G(A,T) @ --- & G(A\y,,T), where G(A;,T) is invariant
under 7" and N; = (T — )\jI)|G(>\- 1 is nilpotent. Find a Jordan basis for each Nj.
"
These bases together provide a Jordan basis for T'. (8.60)



16 Computing a Jordan basis
Main references: Jordan-compute.pdf and Jordan-thread.pdf For this lecture, F = C

o To get a Jordan basis, we need the eigenvalues. Then work with N =T — AI for
each \ separately. In fact, we can work with different \ in parallel in case we don’t
know the dimensions of each G(X,T'), so we know when to stop. In order to start,
we may need to find either some eigenvectors or generalized eigenvectors.

e A thread is a chain of non-zero vectors v, Nv, N%v, ..., N*v. Typically, N**1v =0
in which case we say that it is a closed thread.

Remark. This is not a standard terminology.
e We represent a thread by vg +— v; — vg — - — v — 0.

e A Jordan basis for a nilpotent operator can always be written as a collection of
closed threads. Conversely, if a collection of closed threads has n vectors and they
are linearly independent, these vectors form a Jordan basis. Moreover, it is enough
to check linear independence of the last vector of the threads.

o To find a Jordan basis we must work with rational numbers written as fractions.
Numerical software cannot be used, because even the existence of “repeated
eigenvalues” is a property that breaks down in the presence of rounding error.
More precisely, we often need to apply row reduction to non-invertible matrices
which become invertible (but horrible) in the presence of a small rounding error.

e The Quick and Dirty Method starts with some vector u and tries to find long
threads vg — v1 = v2 = -+ — v} = 0 where v; = u for some j. To enlarge the
thread forward just apply N, to enlarge it backward we need to solve an equation.
The method is not guaranteed but we can always try to get n vectors and test
whether Q1 AQ is in Jordan form.

o The Thorough Method (a.k.a. Guaranteed Method) is based on the proof given
in the previous lecture. It is probably the most economic if we wanted to find a
Jordan basis that has a large number of threads with different lengths (which we
don’t want), but it is very rigid and really a pain in the neck.

e The Simpler Method is more playful and flexible. We can start with an ad hoc
collection of threads, reduce the collection to get linear independence, and add
more chains gradually if needed to span the whole space (or subspace).

o These names for the methods are not standard terminology either.



Part IV: Operators on real vector spaces

For this part, F=R, dimV =n > 1.

17 Complexification I

Main reference: Axler §9.A

e We have already given the best possible description to operators on complex spaces.
The idea now is to import that knowledge and use it to help us study operators
on real vector spaces.

e The complexification V¢ of V is the complex vector space consisting of ordered
pairs (u,v) € Vo =V x V with the addition defined naturally and the (complex)
scalar multiplication defined by

(a +ib)(u,v) = (au — bv, bu + av).

If we use the notation (u,v) = u + iv, then the scalar multiplication follows the
usual multiplication rules for complex numbers.
Short description: Vg = V 4+ ¢V with sum of two vectors and multiplication of a
vector by a complex scalar multiplication defined in the obvious way.

o If v1,...,v, is a basis of V, then it is also a basis of V¢. So dimg V' = dim¢ V.

o Definition. Let T' € L£(V). The complexification Tc € L(Vc) of T is defined by
Te(u+ i) =Tu + iTv.
Remark: Not every S € L(V) corresponds to Tu + iTw for some T' € L(V').

e Let B be a basis of V. Then [T = [It|s.

o The minimal polynomial of T" is equal to the minimal polynomial of Tt¢.
Proof. First note that (T¢)*(u + iv) = T*u + iT*v for every u,v € V and k € N,
whence g(Tc)u = g(T)u for real polynomial g and v € V.
Let p be the minimal polynomial of 7', and let vy,...,v, be a basis for V. Then it
is also a basis for V¢, and since p(Tc)v; = p(T')v; = 0 for all j, we have p(T¢) = 0.

Now suppose ¢ = f + ig is a complex polynomial with smaller degree such that
q(Tc) = 0. Then ¢(TIc)z = 0 for all z € V¢, and in particular ¢(Tc)u = 0 for
all u € V. But ¢(Tc)u = f(T)u + ig(T)u, hence f(T) = 0 and ¢g(T) = 0. By
minimality of p, both f and g are the zero polynomial, and so is gq. (here)

o If (-,-) is an inner product on V' then (u+iv, z+iy)c = (u, x)+(v, y)+i(v, z)—i(u, y)
defines a complex inner product on V.

Proof. Long computations show that it satisfies the 4-5 axioms. (Exercise 9.B.3)



18 Complexification II

Main reference: Axler §9.A

For convenience, fix a basis for V' and work with matrix representation A = [T'] € R™"*".

e Let A € R. Then A is an eigenvalue of T if and only if it is an eigenvalue of T¢.

Proof. Suppose A is an eigenvalue for 7. Then there is u € V \ {0} such that
Tu = Mu. On the other hand, Tcu = T'u = Au so A is also an eigenvalue of Tt.

Let A be an eigenvalue for T¢. Then Te(u+iv) = AM(u+iv) = (Au)+i(Av) for some
z=u+iv € Vg \ {0}. On the other hand, T¢(u + iv) = Tu + iTv, so Tu = \u
and Tv = Av. Since u and v cannot be both zero, A is an eigenvalue. (9.11)

o Forany A€ C, j e Nand u,v € V,

(Tec — M) (u+iv) = 0 & (Tc — M) (u —iv) = 0.

Proof. (A= XYz =(A—-X)z=(A- )\I)jf =(A— N)ix. (here)

e Let A € C. Then ) is an eigenvalue of T if and only if X is an eigenvalue of T¢.
Proof. Take 7 = 1.

o For T, the algebraic multiplicity of A equals the algebraic multiplicity of \.
Proof. If z1,. .., x4 is a basis for G(\, A), then Z1,...,Z4 is a basis for G(\, A).

e Every operator on an odd-dimensional real vector space has at least one eigenvalue.

Proof. The non-real eigenvalues of T¢ come in pairs with equal multiplicity. (9.19)

o The (geometric and algebraic) multiplicities of A € R for T" are the same for T¢.
Proof: The number of free variables in the echelon form of A — A and (A — \I)™.

e The characteristic polynomial of T has real coefficients.
Proof. (z — \)™(z — \)™ = (22 — 2R(\)z + |A|*)™ has real coefficients. (9.20)

o The characteristic polynomial of T is defined as the characteristic polynomial of
Tc. Its degree is dim V' and its real roots are the eigenvalues of T

e Cayley-Hamilton Theorem. p(T) = 0.
Proof. By the complex Cayley-Hamilton Theorem, [p(T)] = p([T]) = p([T¢]) = 0.

e The minimal polynomial divides the characteristic polynomial.

Proof. The minimal polynomial divides any polynomial that annihilates 7.



19 Normal operators on real inner product spaces

Main reference: Axler §9.B

e Theorem. If T' € £(V) is normal, then there exists an orthonormal basis B such
that [T|g is block diagonal with each block either 1 x 1 with a real eigenvalue or

2 x 2 of the form {‘; _fj} where b > 0 and A = a + ib an eigenvalue of T¢.
Lemma 1. Every operator has an invariant subspace of dimension 1 or 2.

Proof. We know that Tt has at least one eigenvalue a + ib. So there exist u,v € V
such that u+iv € V¢ \ {0} is an eigenvector. Hence, Tt (u+iv) = (a+1ib)(u+iv) =
(au — bv) + i(av + bu). On the other hand, Tr(u + w) = Tu + iTv. Thus,
Tu = (au — bv) and Tv = (av + bu). Therefore, span(u,v) is invariant and has
dimension 1 or 2. (9.8)
Lemma 2. If U is a 2-dimensional real inner product space, and T € L(U) is

normal but not self-adjoint, then there exists an orthonormal basis B of U such
that [T]g = [;; 1’;} with a,b € R, b > 0.

Proof. Pick any o.n. basis and check that [T'] must have this form with £b. (9.27)

Lemma 3. If '€ L(V) is a normal operator and U is a subspace invariant under

T, then U™ is invariant under T', moreover T), and T yL are normal operators.

Proof. For invariance of U, extend an orthonormal basis for U and write [T] =
[A, B;0,C]. To show that B = 0, we use Y72, [|[Te;||* = 372, [|[T*¢;||* and repeat
the same trick as in the Complex Spectral Theorem. Invariance of U and U+
under 7™ follows from [T*] = [A*,0;0,C*]. Normality of T}, and T}, follows
from normality of A and C, which in turn follow from normality of [T7]. (9.30)

Proof of the theorem. Work by induction on n = dim V.

For n = 1 the description follows trivially, so suppose n > 2 and that the theorem
holds for spaces of dimension smaller than n.

Let U be an invariant subspace of dimension 1, if such subspace exists. If not, let
U be an invariant subspace of dimension 2 (it exists by Lemma 1). In the former
case, take v € U with |[v|| = 1 and let B = {v}. In the latter case, we know that 7},
is normal (by Lemma 3) but not self-adjoint (otherwise 7" would have eigenvalues
by the Real Spectral Theorem and we would not be in the latter case), hence by
Lemma 2 there is a basis B of U for which [T}, ] is a 2 x 2 matrix of the above form.

On the other hand, by Lemma 3, U' is invariant and 7| - is normal. By the
induction hypothesis, there is an orthonormal basis B’ for U~ for which [T|U | has

the desired form. Then for the orthonormal basis A = B’ U B of V' we have [T]4
in the desired form, proving the theorem. (9.34)



20 Isometries and 2x2 block diagonalization

Main reference: these notes.

o If S € L(V) is an isometry, then there exists an orthonormal basis B such
that [T]p is block diagonal with each block either [£1];x; or of the form
[cos 0, — sin 0 sin 0, cos O]ax2 with 0 € (0, 7).

Proof. Use the previous theorem and the assumption that S is an isometry. (9.36)
e If the real vectors uq,...,u, form a basis for V¢, then they form a basis for V.
Proof. 1t 3>; ajuj = 0 in V, then > ; ajuj = 0 in Vg, implying a; = 0.
o If 2m vectors uy £1ivy, ..., Uy £ iv, are L.I., then uy, vy, ..., Um, v, are LI in V.

Proof. These vectors span the same subspace of V¢, hence they are L.I. in V.

o [f the m complex vectors uy + vy, ..., Uy + iUy, are L1 in Vi, then the real family
U1, V1, - - ., Um, Uy, has at least m vectors which are L.I. in V.
Proof. The span of u1,v1,...,Un, vy contains the span of uy + vy, ..., Uy + U,

which has complex dimension m. Hence, at least m of them are L.I. in V.

e If u+ iv is an eigenvector of T with eigenvalue a + ib with b > 0, then span{u, v}

. . . . . _ |a—b
is two-dimensional and invariant under 7', and [T|span {M}] (ol = |4 ol

Proof. Since u — iv is an eigenvector for a — ib, they are linearly independent
and span{u £ v} = span{u, v} is two-dimensional. Now observe that Tu + iTv =
Te(u + iv) = (a+ib)(u + iv) = (au — bv) +i(bu + av), whence Tu = au — bv and
Tv = bu + av. Hence span{u, v} is invariant and [T\span{u,v}]{v,U} = [Z *ﬂ

e Suppose Tt is diagonalizable. Denote the eigenvalues of Tt listed with multiplicity
by a1+ib1, ..., am+ibm, a1 —1ib1, ..., Gm—1bm, Gmi1, - - -, Gp Where a1 < ... < ap
and b; > 0. Then there is a basis B for V' such that [Tz is block diagonal, with

m blocks of the form [Zj 4’-;_} and n — 2m blocks of the form [a;]1x1.

a

How to get B? Let z; = u; + iv; denote the elements of the original eigenbasis.
Replace zp4j by uj — iv; for j = 1,...,m. For each string of identical
eigenvalues ay,...,ar+q, choose d + 1 linearly independent vectors zy,...,ZTk4q
from ug, vk, . .., Uk1d, Vkrd, and replace them in the list. The new collection has n
eigenvectors (why?) and spans all the eigenspaces (why?), hence it spans V¢, so it is
an eigenbasis. And [T]p has the claimed form if B = vy, uy, ..., Vm, Unm, T2m+1, Tn-

Remark. When T is normal, the orthonormal basis of eigenvalues provided by the

Complex Spectral Theorem will provide an orthogonal basis whose existence we
proved in the previous lecture. Gram-Schmidt might be needed for the real part.

Remark. If A is a Jordan basis for T¢, a similar procedure will give a basis B such
that [T']p has blocks in the diagonal as above, some 1’s above the real eigenvalues,

and some [é ﬂ blocks above the [Z _fj blocks.



Part V: Trace and determinant

For this part, F =R or C, and dimV = n > 1. For convenience, T¢
and Vg mean T and V if F = C, or their complexification if F = R.

21 Trace
Main reference: Axler §10.A

e We define the trace of an operator T € L(V'), denoted trace T, as the sum of all
n eigenvalues of Tc. We define the trace of a matric A = (aji);x € C**" by
trace A = 1, agk, which is the sum of its n diagonal entries.

o If pr(z) = > ajzj is the characteristic polynomial of T', then traceT = —a,_1.

e Theorem. For every basis B, trace[T|s = traceT. In particular, trace[T]s does not
depend on the choice of basis.

e To prove the previous theorem, we recall the following facts:
* There is a basis B of V¢ such that [T¢]g is triangular superior.

* For every basis B of V¢, if [Tt]p is triangular superior then its diagonal elements
coincide with the n eigenvalues of T¢.

And we use the following property of matrix trace:
* If A is invertible, then trace(ABA™1) = trace(B).

The last property implies that trace[T]s does not depend on the basis B. Hence,
it is enough to show that the definitions of trace of operator and trace of matrix
coincide for some basis B. The first property ensures the existence of a convenient
basis, which together with the second property shows that this basis gives the
desired equality, proving the theorem.

e Proof that trace(ABA~!) = trace(B).
This follows from another property: trace(AB) = trace(BA), given by

trace AB = Z(AB)jj = Zzajkbkj = Z Zbkjajk = Z(BA)kk = trace BA.

J J k

e Interesting property: Although there is no relationship between the eigenvalues of
S + T with sums of eigenvalues of S and of T', when added together we have that
the sum of all eigenvalues of S + T equals the sum of all eigenvalues of S and T'.

e Interesting application: There are no operators S and 71" such that ST — TS = I.



22

Determinant

Main reference: Axler §10.B

We define the determinant of an operator T'€ L(V'), denoted detT', as the product
of all n eigenvalues of T¢. It equals (—1)™ag in the characteristic polynomial.

The operator T is invertible if and only if detT" # 0. Also, pr(z) = det(zl —T).

We define the determinant of a matriz A = (a;i)j, € C"*™ by

det A =" "sgn(0) [] ao(s).»
o j=1

where the sum is over all the n! permutations o of {1,...,n}, and

sgn(o) = (—1)#{Uk) i<k and o(j)>a(k)}

det(AB) = (det A)(det B)

For every basis B of V', we have det[T|g = det T

Proof. Since det I = 1, by the previous property det[T]z does not depend on B, so
it suffices to show the identity for some basis of V. Take a basis B of T for which
[Tc]p is upper-triangular, so the n elements in the diagonal are the n eigenvalues
of Tr. Finally, notice that the determinant of an upper-triangular matrix is the
product of the elements in the diagonal, because other permutations always pick
an entry below it.

For 2 C R™ open and bounded, vol(T'(2)) = |det T'| x vol(£2).

The volume is defined as
[(Q) = inf [(AL).
vol(2) ind ; vol(Ag)

The infimum is taken over all sequences of boxes A = (A1, A, ...) whose faces are
orthogonal to the axes and whose union contains €. The volume of a box (Ay) is
defined as the product of its n dimensions (width, depth, height, etc.).

The proof uses the following facts:

— A diagonal operator D stretches volume by a factor | det D|. (exercise)
— Isometries preserve volume. (accepted without proof)
— An isometry S has |det S| = 1. (exercise)
— det(RT) = (det R)(detT'). (exercise)
— Singular Value Decomposition: T = S159DS3. (write P = S2DS3)

Proof. vol(T()) = vol(5152D55(2)) = vol(DS3(Q2)) = |det D| x vol(S5(2)) =
|det D| x vol(€2). On the other hand, |detT'| = | det D|, concluding the proof.
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\emph{\Large Part I: Inner product spaces}
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\section{Inner products}

Main reference:
Axler \S1.B

\begin{itemize}

\item

The \emph{field} $\F$ is either $\R$ or $\C$.
Elements of $\F$ are called \emph{numbers} or \emph{scalars}.
A \emph{complex number} $z \in \C$ is a number of the form $z = x+iy$ where $x,y\in \R$.
In $\C$ we have usual algebraic properties of multiplication and addition, plus the property that $i^2=-1$, so $(1+2i)(3+4i)=3+4i+6i+8i^2=-5+10i$.

\item

Why $\C$?
Cutting a long story short...
Want to count: $\N$.
Want to subtract: $\N \leadsto \Z$.
Want to divide: $\Z \leadsto \Q$.
Want intermediate value theorem: $\Q \leadsto \R$.
Want polynomials to have roots: $\R \leadsto \C$.

\item

A \emph{vector space over the field $\F$} is a set $V$ together with the operations of addition and scalar multiplication satisfying certain properties.

\end{itemize}

Main reference:
Axler \S6.A

\begin{itemize}

\item

The dot product can be seen as a generalization of multiplication on $\R$.
The inner product can be seen as a generalization of the usual dot product on $\R^n$.

\item

An \emph{inner product} on a vector space $V$ is a function $\inner{\cdot}{\cdot}:V\times V\to\mathbb{F}$ satisfying:
\begin{enumerate}
\item For every $v\in V$, $ \inner{v}{v} \geq 0$ \ \ (in particular $\inner{v}{v} \in\mathbb{R}$);
\item $\inner{v}{v}=0$ if and only if $v={\mathbf{0}}$;
\item For every $u,v,w\in V$ and $\alpha\in\mathbb{F}$, $\inner{u+\alpha v}{w}=\inner{u}{w}+\alpha \inner{v}{w}$;
\item For every $u,v\in V$, $\inner{v}{u}=\overline{\inner{u}{v}}$.
\end{enumerate}
Examples:
\begin{itemize}
\item
The dot product $\inner{x}{y} = x \mydot y$ on $\R^n$ is the simplest case.

\item
For positive real numbers $c_1,\dots,c_n$, we can define $\inner{x}{y} = \sum_j c_j x_j y_j$.

\item
On $\C^n$, we can define $\inner{z}{w} = \sum_j z_j \overline{w_j}$ or $\inner{z}{w} = \sum_j c_j z_j \overline{w_j}$.

\item
On $\cP(\C)$, we can define $ \inner{p}{q} = \int_0^\infty e^{-t}p(t)\overline{q(t)} \, \dd t $.

\end{itemize}

\item

An \emph{inner product space} is a vector space endowed with an inner product.

\item 

$\langle u,v+\alpha w\rangle=\langle u,v\rangle+\overline{\alpha}\langle u,w\rangle$, for every $u,v,w\in V$ and for every $\alpha \in \mathbb{F}$.

\item

Two vectors $u,v\in V$ are \emph{orthogonal} if $\langle u,v\rangle=0$.
We denote it $u\perp v$.

\item

${\bf 0}$ is the only vector orthogonal to itself.

\end{itemize}
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\section{Inner products and norms}

Main reference:
Axler \S6.A

\textbf{Terminology.}
In these lecture notes, ``proof'' means just the main idea of the proof.
The complete proof is the one written on the whiteboard or in the textbook.

\begin{itemize}

\item

On an inner product space $V$, the \emph{norm} of $v\in V$ is defined by $\|v\|=\sqrt{\langle v,v\rangle}$.
\item

Properties of a norm:
\begin{enumerate}
\item For every $v\in V$, $\|v\| \geq 0$
\item $\|v\|=0$ if and only if ${v}=\mathbf{0}$
\item For every $u,v\in V$, $\|u+v\|\leq \|u\|+\|v\|$
\item For every $v\in V$ and every $\alpha\in\mathbb{F}$, $\|\alpha v\|=|\alpha|\cdot\|v\|$
\end{enumerate}

\emph{Proof.}
Triangle inequality is postponed. The other three immediate from $\inner{\cdot}{\cdot}$.

\item

\emph{Pythagorean Theorem} : If $u \perp v$, then $\|u+v\|^2=\|u\|^2+\|v\|^2$.

\emph{Proof.}
Just expand $ \inner{u+v}{u+v} $ and group the cross term.

Counter-example: $u=(1,1+i),v=(2-i,-1-i) \in \C^2$.
By carefully examining the proof, we can see why the inner product is in $i\,\R$ for such examples.

\item

\emph{Orthogonal decomposition:} For $u,v\in V$, $v\neq \0$, we have
\[
u= \lambda v+w , \quad \text{ with }\langle w,v\rangle=0,
\]
where the scalar $\lambda$ and vector $w$ are given by 
\(
\lambda = \frac{\langle u,v\rangle}{\inner{v}{v}}
\text{ and }
w = u-\lambda v.
\)

\emph{Proof.}
Assume there is such a decomposition and compute $\inner{u}{v}$.

\item

\emph{Cauchy-Schwarz Inequality.}
For every $u,v\in V$, $|\langle u,v\rangle|\leq \|u\|\cdot\| v\|$.
\\
Equality holds if and only if $v={\bf 0}$ or if $u=\lambda v$ for some $\lambda\in\mathbb{F}$.

\emph{Proof.}
Apply Pythagorean Theorem to the orthogonal decomposition of $u$ onto $v$.

Example:
for continuous functions $f,g:[0,1]\to \R$,
\[
\int_0^1 f(t)g(t) \, \dd t \leq \sqrt{\Big(\int_{0}^{1}f(t)^2 \, \dd t \Big)\Big(\int_{0}^{1} g(t)^2 \, \dd t \Big)}
.
\]

\item

\emph{Triangle Inequality.}
For every $u,v\in V$, $\|u+v\| \leq \|u\| + \|v\|$.
\\
Equality holds if and only if $v=\0$ or $u=\lambda v$ for some $\lambda \geq 0$.

\emph{Proof.}
Expand $\|u+v\|^2$ and use Cauchy-Schwarz Inequality.

Example:
for continuous functions $f,g:[0,1]\to \C$,
\begin{align*}
\sqrt{ \int_{0}^{1} |f(x)+g(x)|^2 \, \dd t }
\leq
\sqrt{ \int_{0}^{1} |f(x)|^2 \, \dd t }
+
\sqrt{ \int_{0}^{1} |g(x)|^2 \, \dd t }
.\end{align*}

\end{itemize}
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\section{Orthonormal bases}

Main reference:
Axler \S6.B

\begin{itemize}

\item

A family of vectors $e_1,\dots,e_m\in V$ is \emph{orthonormal} if, for every $1\leq j,k\leq m$, 
\[
\langle e_j,e_k\rangle=
\left\{
\begin{array}{c}
1\text{ if } j=k , \\
0\text{ if } j\neq k.
\end{array}
\right.
\]

Examples: $\{(\cos \theta, \sin \theta),(-\sin \theta, \cos \theta)\},\
\{(0, -\frac{\sqrt{2}}{2}, \frac{\sqrt{2}}{2}),(0, \frac{\sqrt{2}}{2}, \frac{\sqrt{2}}{2}), (1,0,0)\}$.

\spitem

\emph{Parseval's Identity.}
Let $e_1,\dots,e_m\in V$ be an \emph{orthonormal} family of vectors.
\\
For every $a_1,\dots,a_m\in\mathbb{F}$, we have
\[
\|a_1e_1+\dots+a_me_m\|^2=|a_1|^2+\dots+|a_m|^2.
\]

\emph{Proof.}
Pythagorean Theorem.

\item
If $e_1,\dots,e_m\in V$ are orthonormal then they are linearly independent.

\emph{Proof.}
Use previous identity.

\item

An \emph{orthonormal basis} is a basis consisting of orthonormal vectors.
\\
Every orthonormal family containing $\mydim V$ vectors is an orthonormal basis.

\item
\emph{Decomposition.}
Let $e_1,\dots,e_m$ be an orthonormal basis for $V$.
For every $v\in V$,
\[
v=\langle v,e_1\rangle e_1+\dots+\langle v,e_n\rangle e_n,
\]
and $\|v\|^2=|\langle v,e_1\rangle|^2+\dots+|\langle v,e_n\rangle|^2$.

\emph{Proof.}
Direct computation and Parseval's identity.

\item

\emph{The Gram-Schmidt procedure:} Let $v_1,\dots,v_m\in V$ be linearly independent.
Define $e_1=\frac{1}{\|v_1\|} v_1$ and, for $j = 2,\dots,m$,
\[
\tilde{e}_j = v_j-\displaystyle{\langle v_j,e_1\rangle e_1} - \inner{v_j}{e_2}e_2 - \dots - \inner{v_j}{e_{j-1}}e_{j-1}
\qquad
e_j = \tfrac{1}{\left\|\tilde{e}_j\right\|} \, \tilde{e}_j.
\]
Then $e_1,\dots\,e_m$ is orthonormal and $\myspan(v_1,\dots,v_j)=\myspan(e_1,\dots,e_j)$ for every $j$.

%Example:
%$(i,i,i),(-1,0,1),(3,0,3)$.

Example:
%$\sqrt{\frac{1}{2}},\sqrt{\frac{3}{2}}x,\sqrt{\frac{45}{8}}(x^2 - \frac{1}{3})$ 
On $\cP_2(\R)$ with $\inner{p}{q} = \int_{-1}^{1}p(t)q(t) \, \dd t$, apply G-S to $t^2,1,t$.

\spitem
Let $e_1,\dots,e_m$ denote the orthonormal family obtained by applying Gram-Schmidt to $v_1,\dots,v_m$, and let $e_1',\dots,e_m',e_{m+1}'$ denote the family obtained from $v_1,\dots,v_m,v_{m+1}$. Then $e_1=e_1',\dots,e_m=e_m'$.

An analogous property would not hold for $v_{m+1},v_1,\dots,v_m$.

That is, Gram-Schmidt procedure gives a consistent output if we add more vectors at the end of the list, but not at the beginning.

\end{itemize}
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\section{Schur's Theorem and Riesz Representation Theorem}

Main reference:
Axler \S6.B
\ \ \
(Uses results from Axler \S5.B)

\textbf{Notation.}
A `` $\circ$ '' indicates a point that it is not quite following the textbook.

\begin{itemize}

\item

Every \textbf{finite-dimensional} inner product space has an orthonormal basis.

\emph{Proof.}
Apply Gram-Schmidt to an arbitrary basis.

\item

For \textbf{finite-dimensional} inner product spaces, every orthonormal family can be extended to an orthonormal basis.

\emph{Proof.}
Extend to an arbitrary basis (add at the end) and apply Gram-Schmidt.

\item

If an operator $T$ on a \textbf{finite-dimensional} inner product space has upper-triangular matrix with respect to some basis, then it has an upper-triangular matrix with respect to some orthonormal basis.

\emph{Proof.}
Recall that $[T]_{v_1,\dots,v_m}$ is upper-triangular if and only if $\myspan(v_1,\dots,v_j)$ is invariant under $T$ for every $j = 1,\dots,m$.
Apply Gram-Schmidt and conclude.

\item

\emph{Schur's Theorem}: Every operator on a \textbf{finite-dimensional} and \textbf{complex} inner product space has upper-triangular matrix with respect to some orthonormal basis.

\emph{Proof.}
Recall that every operator on a finite-dimensional complex vector space is upper-triangular with respect to some basis.
Apply previous result.

Example:
compare $T(x,y)=(-y,x)$ on $\R^2$ and $\C^2$.

\item

A \emph{linear functional} $\varphi$ on $V$ is a linear map from $V$ to $\mathbb{F}$, i.e.~$\varphi\in\mathcal{L}(V,\mathbb{F})$.

Example:
$\varphi(z)=2z_1 -i z_3 + 3z_3 + 5i z_1$ on $\C^3$.

\emph{Remark.}
The above example can be written as $\varphi(z) = \inner{z}{(2-5i,0,3+i)}$.

Example:
$\varphi(p)= \int_0^1 p(t) \cos \pi t \, \dd t$ on $\cP(\C)$.

%Remark:
%This one cannot be written as $\varphi(p) = \inner{p}{q}$ for some fixed $q \in V$.

\item

\emph{Riesz Representation Theorem.}
Let $V$ be a \textbf{finite-dimensional} inner product space and $\varphi\in\mathcal{L}(V,\mathbb{F})$. There is a unique $u\in V$ such that $\varphi(v)=\langle v,u\rangle \ \forall v$.

\emph{Proof.}
Take an orthonormal basis, write $u = \sum_j \alpha_j e_j$, and expand $\inner{e_j}{u}$.
Show that this $u$ has the desired property.
For uniqueness, compute $\varphi(u-u')$.

\emph{Remark.}
So we compute $u$, and the result does not depend on the choice of basis.

\spitem

As a remark, for $\varphi(p)= \int_0^1 p(t) \cos \pi t \, \dd t$ on $\cP(\C)$, there is no $q \in \cP(\C)$ with this property.
The proof is analytic, requiring Stone-Weierstrass Theorem, etc.
This is Functional Analysis, which combines Linear Algebra, Analysis and Topology.

However, if we restrict this functional $\varphi$ to $\cP_2(\C)$, then we can find $q \in \cP_2(\C)$ such that $\varphi(p) = \inner{p}{q}$ for every $p \in \cP_2(\C)$.

\end{itemize}
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\section{Orthogonal complement}

Main reference:
Axler \S6.C

\textbf{Notation.}
$C_\R[a,b] = \{f:[a,b]\to\R \text{ continuous}\}$,
$C_\C[a,b] = \{f+ig:f,g\in\mathcal{C}_\R[a,b]\}$.

\begin{itemize}

\item

If $U$ is a subset of $V$, then the \emph{orthogonal complement} of $U$, denoted $U^{\perp}$, is the set of vectors in $V$ that are orthogonal to every vector in $U$, that is
\[
U^{\perp}=\left\{v\in V:\ \langle v,u\rangle=0, \ \forall u\in U\right\}.
\]

%Examples on $\R^3$.

\item

Let $V$ be an inner product space. Then
\begin{enumerate}
\item For every subset $U$ of $V$, $U^\perp$ is a subspace;
\item $\{\0\}^\perp=V$ and $V^\perp=\{\bf{ 0}\}$;
\item For every subset $U\subset V$, $U^\perp\cap U\subset \{{\bf 0}\}$;
\item For every subsets $U\subset W\subset V$, $W^\perp\subset U^\perp$.
\end{enumerate}
%  finite-dimensional (not needed?!)

\emph{Proof.}
\emph{Proof.}
In each case, check the definitions.

\item

If $V$ is a inner product space and $U\subset V$ is a \textbf{finite-dimensional} subspace then $$V=U\oplus U^\perp.$$

\emph{Proof.}
For $V=U+U^\perp$, take an orthonormal basis $e_1,\dots,e_m$ of $U$, write $v$ as a sum of its components $\inner{v}{e_j}e_j$ in $U$ plus the remainder $w$ in $U^\perp$.
\\
Finally, $\oplus$ follows from $U \cap U^\perp = \{\0\}$.

\spitem

What can go wrong?

Let $V = C_\R[-1,1]$ with $\inner{f}{g} = \int_{-1}^1 f(t)g(t) \,\dd t$.
\\
For $U = \{f \in V:f(0)=0\}$, $U^\perp = \{\0\}$ and $U+U^\perp \ne V$.

\item

If $U$ is a finite-dimensional subspace, then $U=(U^\perp)^\perp$.

\emph{Proof.}
 To show that $U \subset (U^\perp)^\perp$ check the definition.
For $U \supset (U^\perp)^\perp$, let $v\in (U^\perp)^\perp$, and write $v=u+w$.
Since $U \subset (U^\perp)^\perp$, $u \in (U^\perp)^\perp$, hence $(v-u) \in (U^\perp)^\perp$.
On the other hand, $(v-u) = w \in U^\perp$, thus $v-u=\0$, hence $v \in U$.

\spitem

With the previous counter-example, $(U^\perp)^\perp$ is bigger than $U$.

\item

If $V$ is finite-dimensional and $U$ is a subspace, then $\mydim U^\perp = \mydim V - \mydim U$.

\emph{Proof.}
Just recall that a sum is a direct sum if and only if dimensions add up.

\end{itemize}
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\section{Orthogonal projection and best approximation}

Main reference:
Axler \S6.C

In this lecture, we assume that $U$ is a finite-dimensional subspace of $V$.

\begin{itemize}

\item

The \emph{orthogonal projection} of $V$ onto $U$ is the map $\proj{U} : V \to U$ defined as follows.
For every $v\in V$, write $v$ as
$$v=u+w \ \ \text{ with } u\in U \text{ and } w\in U^\perp,$$
and take $\proj{U} v=u$.
This is well-defined because $V=U\oplus U^\perp$.

\item

Properties of the projection operator.
\begin{enumerate}
\item $\proj{U}\in\mathcal{L}(V)$;
\item $\proj{U} u=u,\ \forall u\in U$ and $\proj{U} w=\0, \ \forall w\in U^\perp$;
\item $\myrange \proj{U}=U$ and $\myker \proj{U}=U^\perp$;
\item $(v - \proj{U} v )\in U^\perp$;
\item $\big(\proj{U}\big)^2=\proj{U}$;
\item $\|\proj{U} v\|\leq \|v\|$ and equality holds if and only if $v\in U$.
\item Given an orthonormal basis $e_1,\dots,e_n$ of $U$, we have, for every $v\in V$,
$$\proj{U} v = \sum_{i=1}^m\langle v,e_i\rangle e_i.$$
\end{enumerate}
\emph{Proof.}
Check the definition of linear.
Use the definition of $\proj{U}$.
Use previous property and $V=U\oplus U^\perp$.
Use the definition of $\proj{U}$.
Use the second property.
Pythagorean Theorem to $v=\proj{U} v + (v - \proj{U} v)$.
Done in the proof of $V=U\oplus U^\perp$.

\item

\emph{Best approximation.}
For every $v\in V$ and every $u\in U$, we have that
\[
\|v-\proj{U}v\| \leq \|v-u\|,
\]
and equality holds if and only if $u=\proj{U} v$.

\emph{Proof.}
Apply Pythagorean Theorem to $v-u=(v - \proj{U} v) + (\proj{U} v - u)$.

\item

The assumption that $U$ is finite-dimensional is of course very restrictive.
But the theory is still very powerful under this assumption, see Example 6.58.

\spitem

Example:
Find the affine function that best approximates $g(t)=\sqrt{t}$ in terms of mean squared difference on $[0,1]$.

\end{itemize}
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\hfil
\emph{\Large Part II: Operators on inner product spaces}

\bigskip

\hfill
We assume that all spaces are finite-dimensional.

\section{The adjoint operator}

Main reference:
Axler \S7.A

\begin{itemize}

\item

Let $V$ and $W$ be two inner product spaces. The \emph{adjoint} of a linear map $T\in\mathcal{L}(V,W)$ is the map $T^*$ defined by $w \mapsto T^* w$ where $T^* w$ is the unique vector in $V$ such tat
$$\langle Tv,w\rangle_{{}_W} = \langle v,T^*w\rangle_{{}_V}$$ for every $v\in V$.
The operator $T^*$ is well-defined by Riesz Representation Theorem.

\item

Examples:

$T(x_1,x_2,x_3)=(- 2 x_2, 5 x_3 - 3 x_1)$

$Tv = \inner{v}{u}_{{}_V} \, x$ for fixed $u\in V$ and $x\in W$

$Tv = Av$ on $\R^4$, where
$ A =
\left[ \begin{array}{cccc}
0 & 1 & 2 & 3 \\
4 & 5 & 6 & 7
\end{array} \right]$

\item

Properties. On the appropriate spaces,

\begin{enumerate}
\item
$T^*\in\mathcal{L}(W,V)$
\item
$(S+T)^*=S^*+T^*$
\item
$(\lambda T)^*=\bar{\lambda}T^*$
\item
$(T^*)^*=T$
\item
$(ST)^*=T^*S^*$
\item
$I^* = I$
\end{enumerate}
\emph{Proof.}
Check the definitions.

\item
For every $T$, $\myker T^*=(\myrange T)^\perp$.

\emph{Proof.}
Use $V^\perp = \{\0\}$ and the definitions of $\myker$, adjoint, $\perp$ and $\myrange$.

\item
Corollaries:
$\myrange T = (\myker T^*)^\perp$,
$\myrange T^* = (\myker T)^\perp$,
$\myker T=(\myrange T^*)^\perp$.

\emph{Proof.}
Take $\perp$. Replace $T$ by $T^*$. Take $\perp$.

\item

For $T\in\mathcal{L}(V,W)$ and orthonormal bases $\mathcal{A}$ of $V$ and $\mathcal{B}$ of $W$, we have
$$
[T^*]_{\mathcal{A},\mathcal{B}}= ([T]_{\mathcal{B},\mathcal{A}})^*,
$$
where $A^*$ denotes the \emph{conjugate transpose} of a matrix $A$.

\emph{Proof.}
Let $C=[T]_{\mathcal{B},\mathcal{A}}$ and $D=[T^*]_{\mathcal{A},\mathcal{B}}$.
Then $c_{j,k} = \dots = \inner{Te_k}{g_j}$.
Likewise, $d_{j,k} = \inner{T^* g_k}{e_j}$.
On the other hand,
$\inner{T^* g_k}{e_j}=\inner{g_k}{T e_j}=\overline{\inner{T e_j}{g_k}}=\overline{c_{k,j}}$.

\end{itemize}
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\section{Self-adjoint and normal operators}

Main reference:
Axler \S7.A

%\textbf{In this lecture we assume all spaces are finite-dimensional.}

\begin{itemize}

\item

An operator $T\in\mathcal{L}(V)$ is \emph{self-adjoint} if $T^*=T$.

\item

In some sense, taking the adjoint of a linear operator is the analogous of taking the complex conjugate of a number.
In the same spirit, since a number being real is equivalent to being equal to its conjugate, the property of an operator being self-adjoint has many similarities with the property of a number being real.

\item

If $T\in\mathcal{L}(V)$ is self-adjoint, then all its eigenvalues are real.

\emph{Proof.}
Show that $\lambda \|v\|^2 = \bar{\lambda} \|v\|^2$.

\item

Let $V$ be a {\bf complex} inner product space and let $T\in\mathcal{L}(V)$ be an operator. $T$ is self-adjoint if and only if $\langle Tv,v\rangle\in\mathbb{R}$ for every $v\in V$.

\emph{Proof.}
Check that $\inner{Tv}{v}-\overline{\inner{Tv}{v}}=\inner{(T-T^*)v}{v}$ and use following fact.

* If $\langle Sv,v\rangle=0$ for every $v\in V$, then $S={\bf 0}$.

\emph{Proof.}
For $u, w\in V$, expanding
$0 = \sum_k i^k \inner{S(u+i^kw)}{u+i^kw} = 4 \inner{Su}{w}$ gives $Su \in V^\perp=\{\0\}$.
Example:
Compare $S(x,y)=(-y,x)$ on $\R^2$ and $\C^2$.

\item

Let $V$ be an inner product space (real or complex) and let $T\in\mathcal{L}(V)$ be a {\bf self-adjoint} operator. If $\langle Tv,v\rangle=0$ for every $v\in V$, then $T={\bf 0}$.

\emph{Proof.}
For $\F=\C$ it is the previous theorem, so we can assume $\F=\R$. Expanding
$0=\inner{T(u+w)}{u+w}-\inner{T(u-w)}{u-w}$ gives $4\inner{Tu}{w}=0$, hence $Tu \in V^\perp=\{\0\}$.

\item

An operator $T\in\mathcal{L}(V)$ is \emph{normal} if $TT^*=T^*T$.

Examples:
\\
$T(x,y)=(-2y,2x)$ on $\F^2$.
Check that $T^*=(2y,-2x)$, $TT^*=T^*T=(4x,4y)$.\\
$T(x,y)=(y,y)$.
Check that $T^*=(0,x+y)$, $TT^*=(x+y,x+y)$, $T^*T=(0,2y)$.

\item

An operator $T\in\mathcal{L}(V)$ is normal if and only if $\|Tv\|=\|T^*v\|$ for every $v\in V$.

\emph{Proof.}
Write $S=T^*T-TT^*$. We have $S=S^*$, want to show that $S=\0$.
Show that $\inner{Sv}{v}=\|T^*v\|^2 - \|Tv\|^2$ and use previous theorem.

\item If $T\in\mathcal{L}(V)$ is a normal operator with eigenvector $v\in V$ associated to some eigenvalue $\lambda\in\mathbb{F}$, then $v$ is also an eigenvector of $T^*$ associated to the eigenvalue $\bar{\lambda}$.

\emph{Proof.}
Show that $T-\lambda I$ is also normal, whence $\|Tv-\lambda v\|=\|T^*v - \bar\lambda v\|$.

\item If $T\in\mathcal{L}(V)$ is a normal operator then eigenvectors associated to distinct eigenvalues are orthogonal.

\emph{Proof.}
By previous theorem, $Tu=\alpha u$ and $T^*v=\bar\beta v$.
Show that $(\alpha-\beta)\inner{u}{v}=0$.

\end{itemize}
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\section{Spectral Theorem}

Main reference:
Axler \S7.B

%\textbf{In this lecture we assume all spaces are finite-dimensional.}

\begin{itemize}

\item

\text{Spectral Theorems.}
Why do we care?
Diagonal operators?
Orthogonal bases?

%\item
%
%In-class exercise: 
%Diagonalize $T(x,y)=(2x+y,x+2y)$ on $\R^2$.

\item

%In-class exercise: 
Can you diagonalize $T(x,y)=(-2y,2x)$ on $\C^2$? What about $\R^2$?

\item

Can you diagonalize $T(x,y)=(2x+y,x+2y)$ on $\C^2$? What about $\R^2$?

\item

\emph{Complex Spectral Theorem:} Let $V$ be a \textbf{complex} inner product space and $T\in\mathcal{L}(V)$ be an operator. $T$ is \textbf{normal} if and only if it is orthonormal diagonalizable.

%Example:
%$T(x,y)=(-2y,2x)$ being orthogonal diagonalizable on $\C^2$ but not on $\R^2$ is consistent with it being normal but not self-adjoint.

\emph{Proof.}
$(\Leftarrow)$
We know that $[T^*]=[T]^*$, so $[T^*]$ is also diagonal with respect to the same orthonormal basis, thus $[T]^*$ and $[T]$ commute, hence $T^*$ and $T$ commute.
\\
$(\Rightarrow)$
By Schur's Theorem, there is orthonormal basis $\mathcal{A}=\{e_1,\dots,e_n\}$ such that $[T]_\A$ is upper-triangular.
Using $[T^*]=[T]^*$, $\|T e_j \|=\|T^* e_j \|$ and Pythagorean Theorem, show recursively that off-diagonal entires of each row of $[T]$ are zero.

\item

\emph{Real Spectral Theorem.} Let $V$ be a \textbf{real} inner product space and let $T\in\mathcal{L}(V)$ be an operator.
Then $T$ is \textbf{self-adjoint} if and only if it is orthonormal diagonalizable.

%Example:
%$T(x,y)=(2x+y,x+2y)$ being orthonormal diagonalizable on $\R^2$ is consistent with it being self-adjoint.

We prove the Real Spectral Theorem with three lemmas.

An \emph{irreducible quadratic factor} is a polynomial of the form $q(t)=t^2 + 2bt + c$ for real numbers $c>b^2$.
Note that $q(t)>0$ for every $t \in \R$.
% For $\alpha>0$, $x^2 + \alpha bx + \alpha^2 c$ is still an irreducible factor.

*
If $T^*=T$ and $c>b^2 \geq 0$, then $S=T^2+2bT+cI$ is invertible.

\emph{Proof.}
% Check that $x^2 + bx +c > 0$ for all $x$, conclude that $x^2 + bxy + cy^2 > 0$ if $y>0$.
For $\|v\|=1$, expand using $(T+bI)^*=T+bI$ to show $\inner{Sv}{v}>0$.

*
If $V\neq\{\0\}$ and $T^*=T$, then $T$ has at least one eigenvalue.

\emph{Proof.}
Assume $\F=\R$.
Fix $v\ne\0$.
Writing $n=\mydim V$, the family $v,Tv,T^2v,\dots,T^nv$ must be linearly dependent, whence $\sum_j 
a_j T^j v = \0$.
Consider the non-zero polynomial $p(x)=a_0 + a_1 x + a_2 x^2 + \dots + a_n x^n$, and recall that every polynomial over $\R$ can be factorized as a constant times several irreducible quadratic factors times several factors of the form $x-\lambda_k$ for $\lambda_k \in \R$.
Since $p(T)v=\0$, at least one of the linear factors $T-\lambda_k I$ is not injective, and therefore $\lambda_k$ is an eigenvalue.
The case $\F=\C$ is similar but simpler, since polynomials over $\C$ factorize completely.

*
If $T^*=T$ and $U\subset V$ is an invariant subspace under $T$, then $U^\perp$ is invariant under $T$, $T_{|_U}\in{\mathcal{L}(U)}$ is self-adjoint and $T_{|_{U^\perp}}\in{\mathcal{L}(U^\perp)}$ is self-adjoint.

\emph{Proof.}
For $T(U^\perp) \subset U^\perp$, check the definition using $T^*=T$.
For $T_{|_{U}}$ self-adjoint, check the definition.
For $T_{|_{U^\perp}}$ self-adjoint, switch $U$ and $U^\perp$.

Proof of Real Spectral Theorem:
$(\Leftarrow)$
Since $[T]$ is diagonal with respect to an orthonormal basis, we have that $[T^*]=[T]^*=[T]^t=[T]$, hence $T^*=T$.
\\
$(\Rightarrow)$
Use the two lemmas above and induction on the dimension.

\end{itemize}


\clearpage
\section{Positive operators and isometries}

Main reference:
Axler \S7.C

\begin{itemize}

\item

%Spectral Theorem is about orthonormal diagonalization.
%But not every linear operator is diagonalizable, let alone orthonormal diagonalizable.

The idea is that every linear map can be ``diagonalized'' by two orthonormal bases.
Whereas a diagonal operator only does some ``stretching,'' having different bases reflects some ``rotation'' done on the top of that.
By flipping elements of the second base, we can even restrict the stretching to positive real scalars.
As we will see later, stretching is represented by a positive operator, and rotation by an isometry.

\item

An operator $T\in\mathcal{L}(V)$ is \emph{positive} if $T^*=T$ and if $\langle Tv,v\rangle \geq 0$ for every $v\in V$.

Examples:
The identity operator is positive.
An orthogonal projection $\proj{U}$ is positive.
If $T^*=T$ and $c > b^2$ are real, then $T^2 + 2 b T + cI$ is positive.
(7.32)

Remark:
By the Spectral Theorem, a self-adjoint operator is positive if and only if all eigenvalues are non-negative.

\item

Let $T\in\mathcal{L}(V)$ be an operator. An operator $R\in\mathcal{L}(V)$ is a \emph{square root} of $T$ if $T=R^2$.
\hfill
(7.33)

Example:
$T(x,y,z)=(z,0,0)$ and $R(x,y,z)=(y,z,0)$ on $\C^3$.

\item

If $T$ is a positive operator, then $T$ has a \emph{unique} positive square root, denoted $\sqrt{T}$.

\emph{Proof.}
Use the Spectral Theorem.
For existence, take $R$ having eigenvalues $\sqrt{\lambda_k}$ with same orthonormal eigenvectors as $T$.
For uniqueness, let $v$ be an eigenvector of $T$, so $Tv = \lambda v$.
Let $\sqrt{\lambda_k}$ denote the eigenvalues of $R$ for an orthonormal basis $(e_1,\dots,e_n)$, show that $\sum_k a_k \lambda_k e_k = \sum_k a_k \lambda e_k$.
Conclude that $a_k$ with different eigenvalues are zero, hence $Rv=\sqrt{\lambda}v$.
Since eigenvectors form a basis, this determines $R$.
\hfill
(7.36)

\item

An operator $S\in\mathcal{L}(V)$ is an \emph{isometry} if $\|Sv\|=\|v\|$ for every $v\in V$.

\spitem

Let $S\in\mathcal{L}(V)$.
The following are equivalent:
\begin{enumerate}
\item $S$ is an {isometry};
\item $\inner{Su}{Sv} = \inner{u}{v}$ for every $u,v\in V$;
\item $Se_1,\dots,Se_m$ is orthonormal for every orthonormal family $e_1,\dots,e_m$;
\item $Se_1,\dots,Se_n$ is orthonormal for some orthonormal basis $e_1,\dots,e_n$;
\item $S$ is invertible and $S^{-1}=S^*$;
\item $S^*$ is an isometry.
\end{enumerate}

\emph{Proof.}
First $1 \Rightarrow 2 \Rightarrow 3 \Rightarrow 4 \Rightarrow 5 \Rightarrow 6$.
Use that $4 \inner{u}{v} = \sum_k i^k \| u+i^k v\|^2$.
Orthonormality is preserved once inner product is preserved.
Existence follows from Gram-Schmidt.
Mapping a basis to a basis, $S$ is invertible and, by linear combinations on a basis it preserves inner product, so $\inner{u}{S^{-1}v}=\inner{Su}{SS^{-1}v}$ for all $u,v$.
$\inner{S^*v}{S^*v}=\inner{SS^*v}{v}=\|v\|^2$.
For $6 \Rightarrow 1$, use $1 \Rightarrow 6$ and $T^{**}=T$.
\hfill
(7.42)

% \item
% 
% Let $V$ be a \textbf{complex} inner product space. Then, an operator $S\in\mathcal{L}(V)$ is an isometry if and only if $S$ is orthonormal diagonalizable and $|\lambda|=1$ for every eigenvalue $\lambda$.
% 
% \emph{Proof.}

\end{itemize}


\clearpage
\section{Polar Decomposition \& Singular Value Decomposition}

Main reference:
Axler \S7.D

Numbers refer to page or otherwise equation/theorem numbering in Axler.

\begin{itemize}

\item

\emph{Polar Decomposition.}
Let $T$ be an operator on $V$.
There exist an isometry $S$ and a positive operator $P$ such that $T=SP$.
This $P$ can be given by $P=\sqrt{T^*T}$.

\emph{Proof.}
Use $T^*T=P^*P$ to show $\|Pv\|=\|Tv\|$.
Let $U=\myrange P$ and $W = \myrange T$.
Define $S_1 \in \cL(U,W)$ by $S_1 P v = T v$.
Since $S_1$ preserves norm, it is injective.
It follows from the definition that it is also surjective, so $\mydim W = \mydim U$.
Define $S_2 \in \cL(U^\perp,W^\perp)$ by $Te_j=g_j$ for some orthonormal bases.
Define $S = S_1 \proj{U} + S_2 \proj{U^\perp}$.
Since $S_1$ and $S_2$ preserve norm, by orthogonality so does $S$.
\hfill
(7.45)

%Remark:
%Polar Decomposition implies that, over $\mathbb{C}$, any operator is the product of two diagonalizable operators (this does not say that every operator is diagonalizable).

\item

Let $T\in\mathcal{L}(V)$. The \emph{singular values} of $T$ is the list consisting of the eigenvalues of $\sqrt{T^*T}$, where an eigenvalue $\lambda$ is counted $\mydim \myker (\sqrt{T^*T}-\lambda I)$ times.

Remark:
Singular values are nonnegative. By the Spectral Theorem there are always $\mydim V$ of them.
\hfill
(236)

Example:
With computations we check that $T(x,y,z,w)=(0,3x,2y,-3w)$ has singular values $(0,2,3,3)$ but only $0$ and $-3$ are eigenvalues.
\hfill
(7.49)

\item

\emph{Singular Value Decomposition.}
Let $T\in\mathcal{L}(V)$.
There exist orthonormal bases $\mathcal{A}$ and $\mathcal{B}$ such that $[T]_{\mathcal{B},\mathcal{A}}$ has the singular values on the diagonal and zero elsewhere.

\emph{Proof.}
Express $P=\sqrt{T^*T}$ in terms an orthonormal eigenbasis.
Using Polar Decomposition, apply $S$ to this expression, getting
$Tv=s_1\langle v,e_1\rangle Se_1+\dots+s_n\langle v,e_n\rangle S e_n.$
\hfill
(7.51)

\end{itemize}


\clearpage

\hfil
\emph{\Large Part III: Operators on complex vector spaces}

\bigskip

\hfill
We assume that $\F = \R \text{ or }\C$ and $\dim V = n \geq 1$.

\section{Generalized eigenvectors}

Main reference:
Axler \S8.A
%\hfill
%For this lecture, $\F = \R \text{ or }\C$, $\dim V = n \geq 1$

\begin{itemize}

\item

Let $T\in\mathcal{L}(V)$. We have $\{\0\}=\myker T^0\subset \myker T^1\subset \myker T^2\subset \myker T^3 \subset \cdots$

\emph{Proof.}
Just check the definition.

\item

If $\myker T^m = \myker T^{m+1}$, then $\myker T^m = \myker T^{m+1} = \myker T^{m+2} = \myker T^{m+3} = \cdots$

\emph{Proof.}
Show that $v \in \myker T^{m+k+1}$ is also in $\myker T^{m+k}$ using $T^k v \in \myker T^{m+1}$.
\hfill
(8.3)

\item

We have $\myker T^k= \myker T^n$ for every $k \geq n$.

\emph{Proof.}
Each time there is strict inclusion, the dimension increases by at least one.

\item

We have $V = \myker T^n \oplus \myrange T^n$.

\emph{Proof.}
To show $\myker \cap \myrange = \{\0\}$, write $v = T^n u$, and show $u \in \myker T^{2n} = \myker T^n$.
Finally, dimensions add up by Rank-Nullity Theorem.

After-class exercise:
Let $T(z_1,z_2,z_3)=(4z_2,0,5z_3)$.
Check that $\myker T \cap \myrange T \ne \{\0\}$ and $\C^3 \ne \myker T + \myrange T$ but $\C^3 = \myker T^3 \oplus \myrange T^3$ by finding describing these subspaces explicitly.
\hfill
(8.5)

\item

A vector $v\in V$ is a \emph{generalized eigenvector} associated to $\lambda$ if $v\neq\0$ and if there exist a nonnegative integer $j$ such that $(T-\lambda I)^jv=\0$.

Remark:
In this case $\lambda$ must be an eigenvalue, because otherwise $(T-\lambda I)$ being injective would imply that $(T-\lambda I)^j$ is injective.

\item

Ideally, one should be able to decompose $V$ as a direct sum of invariant subspaces where $T$ behaves nicely.
We would like to have $V = E(\lambda_1, T) \oplus \cdots \oplus E(\lambda_m,T)$ but that is not always possible.
Introducing generalized eigenvectors is an attempt to give a good description of linear operators, as simple and complete as possible.

\item

The subspace $G(\lambda,T) = \myker (T-\lambda I)^n$ is called the \emph{generalized eigenspace} of $T$ associated to the eigenvalue $\lambda$.

Exercise:
Let $T(z_1,z_2,z_3)=(4z_2,0,5z_3)$.
Find the eigenvalues of $T$ and the generalized eigenspaces.
Check that $\C^3$ is a direct sum of generalized eigenspaces.

\item

Let $v_1,\dots,v_m$ be generalized eigenvectors corresponding to distinct eigenvalues $\lambda_1,\dots,\lambda_m$ of $T\in\mathcal{L}(V)$. Then the vectors $v_1\dots,v_m$ are linearly independent.

\emph{Proof.}
Take $w=(T-\lambda_1 I)^k v_1$ as a $\lambda_1$-eigenvector.
So $(T - \lambda I)^n w = (\lambda_1 - \lambda)^n w$.
Apply $(T-\lambda_1 I)^k \prod_{j>1} (T - \lambda_j I)^n$ to both sides of $\sum_j a_j v_j = \0$ and conclude that $a_1 = 0$.
To get $a_j = 0$ we repeat the same argument.
\hfill
(8.13)

\end{itemize}


\clearpage
\section{Generalized eigenvectors and nilpotent operators}

Main reference:
Axler \S8.A \& \S8.B
%\hfill
%For this lecture, $\F = \R \text{ or }\C$, $\dim V = n \geq 1$

\begin{itemize}

\item

An operator $N\in\mathcal{L}(V)$ is \emph{nilpotent} if $N^n={\bf 0}$.

Examples:
The derivative on $\mathcal{P}_7(\R)$, or $N(z_1,z_2,z_3,z_4)=(z_2+z_3,z_3,z_4,0)$ on $\C^4$.

\item

Let $N\in\mathcal{L}(V)$ be a nilpotent operator. There exists a basis $\mathcal{B}$ such that $[N]_{\mathcal{B}}$ is upper-triangular with only 0's on the diagonal.

\emph{Proof.}
Choose basis for $\myker N$, extend it to a basis of $\myker N^2$, and so on.
\hfill
(8.19)

\item

Let $T\in\mathcal{L}(V)$ be an operator and let $\lambda$ be an eigenvalue of $T$. The \emph{algebraic multiplicity} of $\lambda$ is defined as $\mydim \myker (T-\lambda I)^n$. The \emph{geometric multiplicity} of $\lambda$ is defined as $\mydim \myker (T-\lambda I)$ and can be smaller than the algebraic multiplicity. 

Exercise:
For $T(z_1,z_2,z_3)= ( 6z_1 + 3z_2 + 4z_3 , 6z_2 + 2z_3 , 7z_3 )$, find the eigenvalues, generalized eigenspaces, and a basis of $\C^3$ made of generalized eigenvectors.

\bigskip
\hfil
\textbf{Below we assume that $\F=\C$.}
\medskip

\spitem                

%($ \F=\C $).
Let $\lambda_1,\dots,\lambda_m$ denote the distinct eigenvalues of $T\in\mathcal{L}(V)$.
Then $$V= G(\lambda_1,T) \oplus \cdots \oplus G(\lambda_m, T).$$
In particular, there is a basis of generalized eigenvectors, and the sum of algebraic multiplicities of $\lambda_1,\dots,\lambda_m$ equals $n$.
Moreover, for all $j$, the subspace $G(\lambda_j,T)$ is invariant under $T$ and the restriction of $T-\lambda_j I$ to $G(\lambda_j,T)$ is nilpotent.

\emph{Proof.} We use the observation that $\myker p(T)$ and $\myrange p(T)$ are invariant under $T$ for any complex polynomial $p(z)$, in particular for $p(z)=(z-\lambda_j)^n$.
Invariance of $G(\lambda_j,T)$ under $T$ follow from this, nilpotence follows from definition of $G(\lambda,T)$.
For the direct sum, recall that operators on complex spaces have at least one $\lambda_1$, write $V = G(\lambda_1, T) \oplus U$ with $U = \myrange (T-\lambda_1 I)^n$ invariant under $T$.
Let $S=T_{|_U} \in \cL(U)$.
The $\lambda_1$-eigenvectors are in $G(\lambda_1,T)$, hence not in $U$.
By induction on $n$, $U = G(\lambda_2,S) \oplus \cdots \oplus G(\lambda_m,S)$.
Since $G(\lambda,S)\subset G(\lambda,T)$, $G(\lambda_1,T)+ \cdots + G(\lambda_m,T) = V$.
Direct sum follows from linear independence of generalized eigenvectors.
\hfill
(8.21)

\item

%($ \F=\C $).
Let $\lambda_1,\dots,\lambda_m$ denote the distinct eigenvalues of $T\in\mathcal{L}(V)$ and $d_1,\dots,d_m$ their algebraic multiplicities.
There exists a basis $\mathcal{B}$ of $V$ such that $[T]_{\mathcal{B}}$ is block diagonal with blocks $A_1,\dots,A_m$ such that $A_j$, $j\in\{1,\dots,m\}$, is a $d_j\times d_j$ upper-triangular matrix with $\lambda_j$ on the diagonal.

\emph{Proof.}
Defining $N_j \in \cL(G(\lambda_j,T))$ by $N_j v = (T - \lambda_j I) v$, we have $N_j$ nilpotent, so there is a basis $\mathcal{B}_j$ of $G(\lambda_j,T)$ such that $[N_j]_{\mathcal{B}_j}$ is upper-triangular with zeros on the diagonal, adding back $\lambda_j I$ gives the upper-triangular matrix with $\lambda_j$ on the diagonal.
\hfill
(8.29)

\end{itemize}


\clearpage
\section{Characteristic and minimal polynomials}

Main reference:
Axler \S8.C
%\hfill
%For this lecture, $\F = \R \text{ or }\C$, $\dim V = n \geq 1$

\begin{itemize}

\item

A {\it monic polynomial} is a polynomial whose leading coefficient is $1$.

\item

There exists a unique monic polynomial $p \in \cP(\F)$ of smallest degree such that $p(T)={\bf 0}$. The polynomial $p$ is called the {\it minimal polynomial} of $T$.

\emph{Proof.}
Consider the largest $m$ such that $I,T,T^2,\dots,T^m$ is linearly independent (such $m$ exists since $\cL(V)$ is finite-dimensional).
Then $I,T,T^2,\dots,T^m$ is a basis for its span, which in turn contains $T^{m+1}$ by definition of $m$.
Therefore, there is a unique monic polynomial $p(z) = z^{m+1} + a_{m} z^{m} + \dots + a_1 z + a_0$ of degree $m+1$ such that $p(T) = \0$.
Moreover, if $q$ is a polynomial of smaller degree such that $q(T)=\0$, by linear independence of $I,T,T^2,\dots,T^m$ we have $q=\0$, so $q$ cannot be monic.
\hfill
(8.40)

\item

Let $p$ be the minimal polynomial of $T$ and let $q\in\mathcal{P}(\mathbb{F})$ be a polynomial. We have that $q(T)={\bf 0}$ if and only if $p$ divides $q$, i.e. $q=p\times s$ for some polynomial $s$.

\emph{Proof.}
The more difficult direction uses polynomial division.
\hfill
(8.46)

\item

Let $V$ be a finite-dimensional vector space and let $T\in\mathcal{L}(V)$. The zeros of the minimal polynomial of $T$ are exactly the eigenvalues of $T$.

\emph{Proof.}
If $p(\lambda)=0$, we have $(T-\lambda I)q(T) v = \0$ for every $v$, and since $q(T) \ne \0$, $\lambda$ is an eigenvalue.
Conversely, if $\lambda$ is an eigenvalue then for an eigenvector we get $\0 = p(T)v = p(\lambda) v$, hence $p(\lambda)=0$.
\hfill
(8.49)

\bigskip
\hfil
\textbf{Below we assume that $\F=\C$.}
\medskip

\item

Let $\lambda_1,\dots,\lambda_m$ denote the distinct eigenvalues of $T\in\mathcal{L}(V)$ and $d_1,\dots,d_m$ their algebraic multiplicities.
The \emph{characteristic polynomial} of $T$ is defined by
\[
g(z) = (z-\lambda_1)^{d_1} \cdots (z-\lambda_m)^{d_m}.
\]
Remark: $g(z)$ has degree $n$ and its zeros are the eigenvalues.

\item

\emph{Cayley-Hamilton Theorem}: $g(T)={\bf 0}$.

\emph{Proof.} Every $v$ is a combination of vectors $v_j \in \ker (T-\lambda_j I)^{d_j}$, and since the operators $(T-\lambda_j I)^{d_j}$ commute, $g(T) v_j = \0$.
\hfill
(8.37)

\item

The characteristic polynomial is a multiple of the minimal polynomial.

\emph{Proof.}
%Every polynomial that annihilates $T$ is a multiple of the minimal polynomial.
Combine Cayley-Hamilton and the property above.
\hfill
(8.48)

\end{itemize}


\clearpage
\section{Jordan form}

Main reference:
Axler \S8.D
\hfill
For this lecture, $\F = \C$

\begin{itemize}

\item

Suppose $N$ is nilpotent.
Then $V$ has a basis which is of the form
$$
v_1,N v_1, N^2 v_1, \dots, N^{d_1} v_1 ,
v_2,N v_2, \dots, N^{d_2} v_2 ,
\dots ,
v_m,N v_m, N^2 v_m, \dots, N^{d_m} v_m,
$$
and is such that $N^{d_j+1}v_j = \0$ for $j=1,\dots,m$.

Remark: The only eigenvalue of $N$ is $0$, and $m$ is just enumerating different families. Each family $j$ starts with some vector $v_j$ and ends when $NNN\cdots NN v_j = \0$.

\emph{Proof.}
We will show how to find such a basis.
Let $U_k = \myrange N^k$.
A basis of a subspace $U \subset V$ with the above properties will be called a \emph{good} basis for $U$.

First, $U_n = \{\0\}$ and the empty set is a good basis for $U_n$.

Let $\B_{k+1} = (
v_1',N v_1', \dots, N^{d_1'} v_1' ,
\dots ,
v_{m'}',N v_{m'}', \dots, N^{d_m'} v_{m'}')
$
be a good basis for $U_{k+1}$.
We will construct a good basis for $U_k$.
Since $U_{k+1} = \myrange (N_{|_{U_k}})$, we can find a solution $v_k$ to $N v_k = v_k'$, for $k=1,\dots,m'$.
Let $d_j = d_j' + 1$ for $j=1,\dots,m'$.
Take the collection
$\tilde{\B}_{k} = (
v_1,N v_1, \dots, N^{d_1} v_1 ,
\dots ,
v_{m'},N v_{m'}, \dots, N^{d_m} v_{m'})
$
obtained by inserting $v_1,\dots,v_{m'}$ before each subfamily of $\B_{k+1}$.

To show that $\tilde{\B}_{k}$ is linearly independent, we consider a null linear combination, apply $N$ and use linear independence of $\B_{k+1}$ to show that the all the coefficients except the last one of each family are zero.
For the last coefficients of each family, use again linear independence of $\B_{k+1}$.
Complete $\tilde{B}_k$ to a basis of $U_k$ by adding $w_{m'+1},\dots,w_m$.

Since $N w_{m'+j} \in U_{k+1}$, it is a linear combination of $\B_{k+1}$, which means a linear combination of $N \tilde{\B}_k$ which means $N x_j$ for some $x \in \myspan \tilde{\B}_k$.
Take $v_{m'+j} = w_{m'+j} - x_j$ so $N v_{m'+j} = \0$.
Take the collection $\B_k$ obtained by adding $v_{m'+1},\dots,v_{m}$ to $\tilde{\B}_k$.
Then $\B_k$ spans $U_k$, so it is a basis, and moreover it is a good basis.
\hfill
(8.55)

\item

A basis $\mathcal{B}$ is a {\it Jordan basis} for $T$ if $[T]_{\mathcal{B}}$ is block diagonal with each block $A_i$ such that its diagonal consists entirely of $\lambda_i$'s, where $\lambda_i$ is an eigenvalue of $T$, and the line above the diagonal consists entirely of $1$'s.

Remark:
If $N$ is nilpotent, then a good basis as in the previous proof, written backwards, is a Jordan basis for $N$.

\item

Let $V$ be a complex finite-dimensional vector space. For any operator $T\in\mathcal{L}(V)$, there exists a Jordan basis for $T$.

\emph{Proof.}
Recall that $V= G(\lambda_1,T) \oplus \cdots \oplus G(\lambda_m, T)$, where $G(\lambda_j,T)$ is invariant under $T$ and $N_j = (T-\lambda_j I)_{|_{G(\lambda_j,T)}}$ is nilpotent.
Find a Jordan basis for each $N_j$.
These bases together provide a Jordan basis for $T$.
\hfill
(8.60)

%\item
%
%How to find a Jordan basis? See file ``Jordan.pdf''

\end{itemize}


\clearpage
\section{Computing a Jordan basis}

Main references:
\textsf{Jordan-compute.pdf} and \textsf{Jordan-thread.pdf}
\hfill
For this lecture, $\F = \C$

\begin{itemize}

\spitem

To get a Jordan basis, we need the eigenvalues.
Then work with $N=T-\lambda I$ for each $\lambda$ separately.
In fact, we can work with different $\lambda$ in parallel in case we don't know the dimensions of each $G(\lambda,T)$, so we know when to stop.
In order to start, we may need to find either some eigenvectors or generalized eigenvectors.

\item

A \emph{thread} is a chain of non-zero vectors $v,Nv,N^2v,\dots,N^kv$.
Typically, $ N^{k+1}v =\0 $ in which case we say that it is a \emph{closed thread}.

\emph{Remark.}
This is not a standard terminology.

\item

We represent a thread by $v_0 \mapsto v_1 \mapsto v_2 \mapsto \dots \mapsto v_k \mapsto \0$.

\item

A Jordan basis for a nilpotent operator can always be written as a collection of closed threads.
Conversely, if a collection of closed threads has $n$ vectors and they are linearly independent, these vectors form a Jordan basis.
Moreover, it is enough to check linear independence of the last vector of the threads.

\spitem

To find a Jordan basis we must work with rational numbers written as fractions.
Numerical software cannot be used, because even the existence of ``repeated eigenvalues'' is a property that breaks down in the presence of rounding error.
More precisely, we often need to apply row reduction to non-invertible matrices which become invertible (but horrible) in the presence of a small rounding error.

\item

The Quick and Dirty Method starts with some vector $u$ and tries to find long threads $v_0 \mapsto v_1 \mapsto v_2 \mapsto \dots \mapsto v_k \mapsto \0$ where $v_j=u$ for some $j$. To enlarge the thread forward just apply $N$, to enlarge it backward we need to solve an equation. The method is not guaranteed but we can always try to get $n$ vectors and test whether $ Q^{-1} A Q $ is in Jordan form.

\spitem

The Thorough Method (a.k.a.\ Guaranteed Method) is based on the proof given in the previous lecture.
It is probably the most economic if we wanted to find a Jordan basis that has a large number of threads with different lengths (which we don't want), but it is very rigid and really a pain in the neck.

\item

The Simpler Method is more playful and flexible. We can start with an \textsl{ad hoc} collection of threads, reduce the collection to get linear independence, and add more chains gradually if needed to span the whole space (or subspace).

\spitem

These names for the methods are not standard terminology either.

\end{itemize}


\clearpage

\hfil
\emph{\Large Part IV: Operators on real vector spaces}

\medskip

\hfill
For this part,
$\F = \R$, $\dim V = n \geq 1$.

\section{Complexification I}

Main reference:
Axler \S9.A
%\hfill
%For this lecture, $\F = \R$, $\dim V = n \geq 1$

\begin{itemize}

\item

We have already given the best possible description to operators on complex spaces.
The idea now is to import that knowledge and use it to help us study operators on real vector spaces.

%\item
%
%How to construct $\C$ from $\R$?
%
%Short answer:
%Take $\C = \R + i\R$ and identify $i^2$ with $1$.
%
%Precise answer: Define $\boldsymbol{1}=(1,0)$ and $\boldsymbol{i}=(0,1)$ on $\R \times \R$.
%Define the product by $z \times (u+w) = (z \times u) + (z \times w)$ with
%$\boldsymbol{1} \times \boldsymbol{1} = \boldsymbol{1}$,
%$\boldsymbol{1} \times \boldsymbol{i} = \boldsymbol{i} \times \boldsymbol{1} = \boldsymbol{i}$,
%and
%$\boldsymbol{i} \times \boldsymbol{i} = -\boldsymbol{1}$.
%
%\item
%
%We have the space $\R^3$ with sum of vectors and multiplication by real scalars.
%
%How to construct the space $\C^3$ with $\F = \C$?
%
%Short answer:
%Take $\C^3 = \R^3 + i \R^3$ and define the operations.
%\\
%- Sum of complex vectors: $(u_1 + i v_1) + (u_2 + i v_2) = (u_1 + u_2) +i (v_1 + v_2)$
%\\
%- Multiplication by complex scalars: $(a + ib)(u + i v) = (au - bv) + i (bu + av)$
%
%Precise answer:
%Define $V = \R^3 \times \R^3$ with the usual addition operation, and multiplication by complex scalars defined by $(a+ib) \times (u,v) = (au-bv,bu+av)$.

\item

The \emph{complexification} $V_{\mathbb{C}}$ of $V$ is the complex vector space consisting of ordered pairs $(u,v)\in V_{\mathbb{C}}=V\times V$ with the addition defined naturally and the (complex) scalar multiplication defined by
\[
(a+ib)(u,v)=(au-bv,bu+av).
\]
If we use the notation $(u,v)=u+iv$, then the scalar multiplication follows the usual multiplication rules for complex numbers.

Short description: $V_\C = V + iV$ with sum of two vectors and multiplication of a vector by a complex scalar multiplication defined in the obvious way.

\item

If $v_1,\dots,v_n$ is a basis of $V$, then it is also a basis of $V_{\mathbb{C}}$.
So $\mydim_\R V = \mydim_\C V_\C$.

\item

Definition.
Let $T\in\mathcal{L}(V)$.
The \emph{complexification} $T_{\mathbb{C}} \in \cL(V_\C)$ of $T$ is defined by $T_{\mathbb{C}}(u+iv)=Tu+iTv$.

Remark: Not every $S \in \cL(V_\C)$ corresponds to $Tu + iTv$ for some $T \in \cL(V)$.

\item

Let $\mathcal{B}$ be a basis of $V$.
Then $[T]_{\mathcal{B}}=[T_{\mathbb{C}}]_{\mathcal{B}}$.

\spitem

The minimal polynomial of $T$ is equal to the minimal polynomial of $T_{\mathbb{C}}$.

\emph{Proof.}
First note that $(T_\C)^k (u + i v) = T^k u + i T^k v$ for every $u,v \in V$ and $k \in \N$, whence $g(T_\C)u=g(T)u$ for real polynomial $g$ and $u \in V$.

Let $p$ be the minimal polynomial of $T$, and let $v_1,\dots,v_n$ be a basis for $V$.
Then it is also a basis for $V_\C$, and since $p(T_\C) v_j = p(T) v_j = \0$ for all $j$, we have $p(T_\C) = \0$.

Now suppose $q = f + i g$ is a complex polynomial with smaller degree such that $q(T_\C)=\0$.
Then $q(T_\C)z=\0$ for all $z \in V_\C$, and in particular $q(T_\C)u=\0$ for all $u \in V$.
But $q(T_\C)u = f(T)u + i g(T)u$, hence $f(T)=\0$ and $g(T)=\0$.
By minimality of $p$, both $f$ and $g$ are the zero polynomial, and so is $q$.
\hfill
(here)

\spitem

% Next time push it to the next lecture.

If $ \inner{\cdot}{\cdot} $ is an inner product on $V$ then
$ \inner{u+iv}{x+iy}_\C = \inner ux + \inner vy + i \inner vx -i \inner uy $
defines a complex inner product on $ V_\C $.

\emph{Proof.}
Long computations show that it satisfies the 4-5 axioms.
\hfill
(Exercise 9.B.3)

\end{itemize}
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\section{Complexification II}

Main reference:
Axler \S9.A
%\hfill
%For this lecture, $\F = \R$, $\dim V = n \geq 1$, and $T \in \cL(V)$.

For convenience, fix a basis for $V$ and work with matrix representation $A=[T]\in \R^{n \times n}$.

%Denote matrix and vector conjugates by $\bar B = (\bar b_{jk})_{jk} \in \C^{n \times n}$ and $\bar x = (\bar x_j)_j \in \C^{n \times 1}$.
%\\
%Remark: The map $x \mapsto \bar x$ is not linear for $\F = \C$.

\begin{itemize}

\item

Let $\lambda\in\mathbb{R}$.
Then $\lambda$ is an eigenvalue of $T$ if and only if it is an eigenvalue of $T_{\mathbb{C}}$.

\emph{Proof.}
Suppose $\lambda$ is an eigenvalue for $T$.
Then there is $u \in V \setminus \{\0\}$ such that $T u = \lambda u$.
On the other hand, $T_\C u = T u = \lambda u$ so $\lambda$ is also an eigenvalue of $T_\C$.

Let $\lambda$ be an eigenvalue for $T_\C$.
Then $T_\C(u+iv) = \lambda (u+iv) = (\lambda u) + i (\lambda v)$ for some $z=u+iv \in V_\C \setminus \{\0\}$.
On the other hand, $T_\C(u+iv) = Tu + i Tv$, so $Tu = \lambda u$ and $T v = \lambda v$.
Since $u$ and $v$ cannot be both zero, $\lambda$ is an eigenvalue.
\hfill
(9.11)

\spitem

For any $\lambda\in\mathbb{C}$, $j\in\mathbb{N}$ and $u,v\in V$,
\[
(T_{\mathbb{C}}-\lambda I)^j(u+iv)={\bf 0}\Leftrightarrow (T_{\mathbb{C}}-\overline{\lambda} I)^j(u-iv)={\bf 0}.
\]

\emph{Proof.}
$(A - \bar\lambda I)^j \bar x = (\bar A - \bar\lambda \bar I)^j \bar x = \overline{(A - \lambda I)}^j \bar x = \overline{(A - \lambda I)^j x}$.
\hfill
(here)

\item

Let $\lambda\in\mathbb{C}$. Then $\lambda$ is an eigenvalue of $T_{\mathbb{C}}$ if and only if $\overline{\lambda}$ is an eigenvalue of $T_{\mathbb{C}}$.

\emph{Proof.}
Take $j=1$.

\spitem

For $T_\C$, the algebraic multiplicity of $\lambda$ equals the algebraic multiplicity of $\overline{\lambda}$.

\emph{Proof.}
If $x_1,\dots,x_d$ is a basis for $G(\lambda,A)$, then $\bar x_1, \dots, \bar x_d$ is a basis for $G(\bar\lambda,A)$.

\item

Every operator on an odd-dimensional real vector space has at least one eigenvalue.

\emph{Proof.}
The non-real eigenvalues of $T_\C$ come in pairs with equal multiplicity.
\hfill
(9.19)

\spitem

The (geometric and algebraic) multiplicities of $\lambda\in\R$ for $ T $ are the same for $ T_\C $.

\emph{Proof:}
The number of free variables in the echelon form of $ A-\lambda I $ and $ (A-\lambda I)^n $.

%For $\lambda\in\R$, the multiplicities of $\lambda$ is the same for $ T $ and $ T_\C $.
%
%\emph{Proof.}
%It is the number of free variables in the echelon form of $ (A-\lambda I)^n $.

\item

The characteristic polynomial of $T_{\mathbb{C}}$ has real coefficients.

\emph{Proof.}
$(z-\lambda)^m (z- \bar \lambda)^m = (z^2 - 2 \Re(\lambda)z + |\lambda|^2)^m$ has real coefficients.
\hfill
(9.20)

\spitem

The \emph{characteristic polynomial} of $T$ is defined as the characteristic polynomial of $T_{\mathbb{C}}$.
Its degree is $\mydim V$ and its real roots are the eigenvalues of $T$.

\item

\emph{Cayley-Hamilton Theorem.}
$p(T)=\0$.

\emph{Proof.}
By the complex Cayley-Hamilton Theorem,
$[p(T)] = p([T]) = p([T_\C])=\0$.

\item

The minimal polynomial divides the characteristic polynomial.

\emph{Proof.}
The minimal polynomial divides any polynomial that annihilates $T$.

\end{itemize}


\clearpage
\section{Normal operators on real inner product spaces}

Main reference:
Axler \S9.B
%\hfill
%For this lecture, $\F = \R$, $\dim V = n \geq 1$, and $T \in \cL(V)$.

\begin{itemize}

\item

\textbf{Theorem.}
If $T \in \cL(V)$ is normal, then there exists an orthonormal basis $\mathcal{B}$ such that $[T]_{\mathcal{B}}$ is block diagonal with
each block either $1 \times 1$ with a real eigenvalue or $2 \times 2$ of the form
\(
\abba
%[ a, -b ; b, a ]_{2 \times 2}
\)
where $b>0$ and $\lambda = a + ib$ an eigenvalue of $T_\C$.

Lemma~1.\
Every operator has an invariant subspace of dimension $1$ or $2$.

\emph{Proof.}
We know that $T_\C$ has at least one eigenvalue $a+ib$.
So there exist $u,v \in V$ such that $u+iv \in V_\C \setminus \{\0\}$ is an eigenvector.
Hence, $T_\C(u+iv) = (a+ib) (u+iv) = (au - bv) + i(av + bu)$.
On the other hand, $T_\C(u+iv) = Tu + i Tv$.
Thus, $Tu = (au - bv)$ and $Tv = (av + bu)$.
Therefore, $\myspan(u,v)$ is invariant and has dimension 1 or 2.
\hfill
(9.8)

Lemma~2.\
If $U$ is a 2-dimensional real inner product space, and $T\in\mathcal{L}(U)$ is normal but not self-adjoint, then there exists an orthonormal basis $\mathcal{B}$ of $U$ such that
\(
[T]_{\mathcal{B}} =
\abba
%\left[ \begin{array}{rr} a & -b \\ b & a\end{array}\right]
\)
with $a,b\in\mathbb{R}$, $b>0$.

\emph{Proof.}
%A system of non-linear equations shows that
Pick any o.n.\ basis and check that
$[T]$ must have this form with $\pm b$.
\hfill
(9.27)

Lemma~3.\
If $T\in\mathcal{L}(V)$ is a normal operator and $U$ is a subspace invariant under $T$, then
$U^\perp$ is invariant under $T$, moreover $T_{|_U}$ and $T_{|_{U^\perp}}$ are normal operators.

\emph{Proof.}
For invariance of $ U^{\perp} $, extend an orthonormal basis for $U$ and write $ [T]=[A,B;\0,C] $.
To show that $ B=\0 $, we use $ \sum_{j=1}^m \|Te_j\|^2 = \sum_{j=1}^m \|T^*e_j\|^2 $ and repeat the same trick as in the Complex Spectral Theorem.
Invariance of $ U $ and $ U^\perp $ under $ T^* $ follows from $ [T^*] = [A^*, \0 ; \0, C^*] $.
Normality of $T_{|_U}$ and $T_{|_{U^\perp}}$ follows from normality of $ A $ and $C$, which in turn follow from normality of $ [T] $.
\hfill
(9.30)

%\emph{Proof.}

\emph{Proof of the theorem.}
Work by induction on $n = \mydim V$.

For $n=1$ the description follows trivially, so suppose $n \geq 2$ and that the theorem holds for spaces of dimension smaller than $n$.

Let $U$ be an invariant subspace of dimension $1$, if such subspace exists.
If not, let $U$ be an invariant subspace of dimension $2$ (it exists by Lemma~1).
In the former case, take $v \in U$ with $\|v\|=1$ and let $\B = \{v\}$.
In the latter case, we know that $T_{|_U}$ is normal (by Lemma~3) but not self-adjoint (otherwise $T$ would have eigenvalues by the Real Spectral Theorem and we would not be in the latter case), hence by Lemma~2 there is a basis $\B$ of $U$ for which $[T_{|_U}]$ is a $2\times 2$ matrix of the above form.

On the other hand, by Lemma~3, $U^\perp$ is invariant and $T_{|_{U^\perp}}$ is normal.
By the induction hypothesis, there is an orthonormal basis $\B'$ for $U^\perp$ for which $[T_{|_{U^\perp}}]$ has the desired form.
Then for the orthonormal basis $\A = \B' \cup \B$ of $V$ we have $[T]_{\A}$ in the desired form, proving the theorem.
\hfill
(9.34)

\end{itemize}


\clearpage
\section{Isometries and 2x2 block diagonalization}

Main reference: these notes.

\begin{itemize}

\item

If $S \in \cL(V)$ is an isometry, then  there exists an orthonormal basis $\mathcal{B}$ such that $[T]_{\mathcal{B}}$ is block diagonal with
each block either $[ \pm 1]_{1 \times 1}$ or of the form
\( [ \cos \theta  , -\sin \theta  ; \sin \theta , \cos \theta ]_{2 \times 2} \)
with $\theta \in (0,\pi)$.

\emph{Proof.} Use the previous theorem and the assumption that $S$ is an isometry.
\hfill
(9.36)

\item

If the real vectors $ u_1,\dots,u_n $ form a basis for $ V_\C $, then they form a basis for $ V. $

\emph{Proof.}
If $ \sum_j \alpha_j u_j = \0 $ in $ V $, then $ \sum_j \alpha_j u_j = \0 $ in $ V_\C $, implying $ \alpha_j=0. $

%Check the definition of L.I.

\item

If $ 2m $ vectors $ u_1 \pm i v_1,\dots,u_m \pm i v_m $ are L.I., then  
%in $ V_\C $, then the $ 2m $ real vectors 
$ u_1,v_1,\dots,u_m,v_m $ are L.I. in $ V_\C. $

\emph{Proof.}
These vectors span the same subspace of $ V_\C $, hence they are L.I. in $ V_\C $.

%Transform the collection and use the above lemma.
%Consider the dimension of the span

\item

If the $ m $ complex vectors $ u_1+iv_1,\dots,u_m+iv_m $ are L.I. in $ V_\C $, then the real family $ u_1,v_1,\dots,u_m,v_m $ has at least $ m $ vectors which are L.I. in $ V_\C $.

\emph{Proof.}
The span of $ u_1,v_1,\dots,u_m,v_m $ contains the span of $ u_1+iv_1,\dots,u_m+iv_m $, which has complex dimension $ m $. Hence, at least $ m $ of them are L.I. in $ V_\C $.

%Enlarge and transform the collection, then use the lemma.
%Consider the dimension of the span

\item

If $ u+iv $ is an eigenvector of $ T_\C $ with eigenvalue $ a+ib $ with $ b>0 $, then $ \myspan\{u,v\} $ is two-dimensional and invariant under $ T $, and
$ [T_{|_{\myspan\{u,v\}}}]_{\{v,u\}} = \abba $.
%$ [T_{|_{\myspan\{u,v\}}}]_{\{v,u\}} = [a, -b ; b, a]$.

\emph{Proof.}
Since $ u-iv $ is an eigenvector for $ a-ib $, they are linearly independent and $ \myspan\{u\pm iv\} = \myspan\{u,v\} $ is two-dimensional.
Now observe 
that
$ Tu + iTv = T_\C(u+iv) = (a+ib)(u+iv) = (au-bv) + i (bu+av) $,
whence $ Tu=au-bv $ and $ Tv=bu+av $.
Hence $ \myspan\{u,v\} $ is invariant and
$ [T_{|_{\myspan\{u,v\}}}]_{\{v,u\}} = \abba $.
%$ [T_{|_{\myspan\{u,v\}}}]_{\{u,v\}} = [a, b ; -b, a]$.

\item

Suppose $ T_\C $ is diagonalizable.
Denote the eigenvalues of $ T_\C $ listed with multiplicity by
$a_1+ib_1,\dots,a_m+ib_m,a_1-ib_1,\dots,a_m-ib_m,a_{m+1},\dots,a_n$ where $ a_{m+1} \leq \dots \leq a_n $ and $ b_j > 0 $.
Then there is a basis $ \B $ for $ V $ such that $ [T]_\B $ is block diagonal, with $ m $ blocks of the form
$ \tiny \begin{bmatrix} a_j \ {-b_j} \\ b_j \ \ \ a_j \end{bmatrix} $
%$[a_j, -b_j ; b_j, a_j]_{2 \times 2}$
and $ n-2m $ blocks of the form $ [a_j]_{1 \times 1} $.

How to get $ \B $?
Let $ z_j = u_j + iv_j $ denote the elements of the original eigenbasis.
Replace $ z_{m+j} $ by $ u_j - iv_j $ for $ j=1,\dots,m $.
For each string of identical eigenvalues $ a_k,\dots,a_{k+d} $, choose $ d+1 $ linearly independent vectors $ x_k,\dots,x_{k+d} $ from $ u_k,v_k,\dots,u_{k+d},v_{k+d}, $ and replace them in the list.
The new collection has $ n $ eigenvectors (why?) and spans all the eigenspaces (why?), hence it spans $ V_\C $, so it is an eigenbasis.
And $ [T]_\B $ has the claimed form
if $ \B = v_1,u_1,\dots,v_m,u_m,x_{2m+1},x_n $.

\emph{Remark.}
When $ T $ is normal, the orthonormal basis of eigenvalues provided by the Complex Spectral Theorem will provide an orthogonal basis whose existence we proved in the previous lecture.
Gram-Schmidt might be needed for the real part.

\emph{Remark.}
If $ \A $ is a Jordan basis for $ T_\C $, a similar procedure will give a basis $ \B $ such that $ [T]_\B $ has blocks in the diagonal as above, some $ 1 $'s above the real eigenvalues, and some
$ \tiny \begin{bmatrix} 1 \ 0 \\ 0 \ 1 \end{bmatrix} $
blocks above the 
$ \abba $
blocks.

\end{itemize}
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\hfil
\emph{\Large Part V: Trace and determinant}

\bigskip

\hfill
For this part,
$\F=\R \text{ or } \C$, and $\mydim V = n \geq 1$.
%\\
%\hspace*{\fill}
For convenience, $T_\C$
\\
\hspace*{\fill}
and $V_\C$
mean $T$ and $V$ if $\F=\C$, or
%\\
%\hspace*{\fill}
their
complexification if $\F=\R$.
%Same for $V_\C$.

\section{Trace}

Main reference:
Axler \S10.A

\begin{itemize}

\item

We define the \emph{trace of an operator} $T \in \cL(V)$, denoted $\mytrace T$, as the sum of all $n$ eigenvalues of $T_\C$.
We define the \emph{trace of a matrix} $A = (a_{jk})_{jk} \in \C^{n \times n}$ by
\(
\mytrace A = \sum_{k=1}^n a_{kk}
,
\)
which is the sum of its $n$ diagonal entries.

\item

If $ p_T(z) = \sum_j a_j z^j $ is the characteristic polynomial of $ T $, then $ \mytrace T = -a_{n-1} $.

\item

\emph{Theorem.} For every basis $\B$,
\(
\mytrace [T]_\B = \mytrace T
.
\)
In particular, $\mytrace [T]_\B$ does not depend on the choice of basis.

\item

To prove the previous theorem, we recall the following facts:

* There is a basis $\B$ of $V_\C$ such that $[T_\C]_\B$ is triangular superior.

* For every basis $\B$ of $V_\C$, if $[T_\C]_\B$ is triangular superior then its diagonal elements coincide with the $n$ eigenvalues of $T_\C$.

And we use the following property of matrix trace:

* If $A$ is invertible, then $\mytrace(A B A^{-1}) = \mytrace(B)$.

The last property implies that $\mytrace [T]_\B$ does not depend on the basis $\B$.
Hence, it is enough to show that the definitions of trace of operator and trace of matrix coincide for \emph{some} basis $\B$.
The first property ensures the existence of a convenient basis, which together with the second property shows that this basis gives the desired equality, proving the theorem.

\item

Proof that $\mytrace(A B A^{-1}) = \mytrace(B)$.

This follows from another property: $\mytrace(AB) = \mytrace(BA)$, given by
\[
\mytrace AB
= \sum_j (AB)_{jj}
= \sum_j \sum_k a_{jk} b_{kj}
= \sum_k \sum_j b_{kj} a_{jk}
= \sum_k (BA)_{kk}
= \mytrace BA.
\]

\item

Interesting property:
Although there is no relationship between the eigenvalues of $S+T$ with sums of eigenvalues of $S$ and of $T$, when added together we have that the sum of all eigenvalues of $S+T$ equals the sum of all eigenvalues of $S$ and $T$.

\item

Interesting application:
There are no operators $S$ and $T$ such that $ST - TS = I$.

\end{itemize}


\clearpage
\section{Determinant}

Main reference:
Axler \S10.B

%$\F=\R \text{ or } \C$, and $\mydim V = n$.
%
%$T_\C$ means $T$ if $\F=\C$ or its complexification if $\F=\R$.
%Same for $V_\C$.

\begin{itemize}

\item

We define the \emph{determinant of an operator} $T \in \cL(V)$, denoted $\mydet T$, as the product of all $n$ eigenvalues of $T_\C$.
It equals $ (-1)^n a_0 $ in the characteristic polynomial.

\item

The operator $T$ is invertible if and only if $\mydet T \ne 0$.
Also,
$p_T(z) = \mydet( zI - T )$.


\item

We define the \emph{determinant of a matrix} $A = (a_{jk})_{jk} \in \C^{n \times n}$ by
\[
\mydet A = \sum_{\sigma} \mysgn(\sigma) \prod_{j=1}^n a_{\sigma(j),j}
,
\]
where the sum is over all the $n!$ permutations $\sigma$ of $ \{1,\dots,n\} $, and
\[
\mysgn(\sigma) = (-1)^{\#\{(j,k) \,:\, j<k \text{ and } \sigma(j) > \sigma(k) \}}
.
\]

%\emph{Proof.}
%$T$ invertible $\Leftrightarrow 0 \text{ is not an eigenvalue} \Leftrightarrow \mydet T \ne 0$.

\item

$\mydet(AB)=(\mydet A)(\mydet B)$

%\emph{Proof.} omitted

\item

For every basis $\B$ of $ V $,
we have
$\mydet [T]_\B = \mydet T$.

\emph{Proof.}
Since $\mydet I = 1$, by the previous property $\mydet [T]_\B$ does not depend on $\B$, so it suffices to show the identity for \emph{some} basis of $ V_\C $.
Take a basis $\B$ of $T_\C$ for which $[T_\C]_{\B}$ is upper-triangular, so the $n$ elements in the diagonal are the $n$ eigenvalues of $T_\C$.
Finally, notice that the determinant of an upper-triangular matrix is the product of the elements in the diagonal, because other permutations always pick an entry below it.

\spitem

For $\Omega \subset \R^n$ open and bounded,
$\mathsf{vol}(T(\Omega))=|\mydet T| \times \mathsf{vol}(\Omega)$.

The volume is defined as
$$\mathsf{vol}(\Omega) = \inf_\A \sum_k \mathsf{vol}(A_k).$$
The infimum is taken over all sequences of boxes $\A = (A_1,A_2,\dots)$ whose faces are orthogonal to the axes and whose union contains $\Omega$.
The volume of a box $(A_k)$ is defined as the product of its $n$ dimensions (width, depth, height, etc.).

The proof uses the following facts:
\begin{itemize}
\item
A diagonal operator $D$ stretches volume by a factor $|\mydet D|$.
\hfill
(exercise)
\item
Isometries preserve volume.
\hfill
(accepted without proof)
\item
An isometry $S$ has $|\mydet S|=1$.
\hfill
(exercise)
\item
$\mydet(RT)=(\mydet R)(\mydet T)$.
\hfill
(exercise)
\item
Singular Value Decomposition: $T = S_1 S_2 D S_3$.
\hfill
(write $P = S_2 D S_3$)
\end{itemize}

\emph{Proof.}
$
\mathsf{vol}(T(\Omega))=
\mathsf{vol}(S_1 S_2 D S_3(\Omega))=
\mathsf{vol}(D S_3(\Omega))=
|\mydet D| \times \mathsf{vol}(S_3(\Omega))=
|\mydet D| \times \mathsf{vol}(\Omega).
$
On the other hand,
$|\mydet T| = |\mydet D|$, concluding the proof.

\end{itemize}
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